UGC NET 2021 Sanskrit traditional subjects

Topic:- Sanskrit_SHAAN_NOV21A

1) 'HogqBRIdcaeRT fHifel Rigod @l desr=aeR: of Aeld?

[Question ID = 208][Question Description = S2_qSNz_PG_SNT_Q01]
1. Twogzant [Option ID = 829]

2. amarf e [Option ID = 830]

3. awft gareres: [Option ID = 831]

4. 3aae: [Option ID = 832]

Correct Answer :-
® Imogand [Option ID = 829]

2) Hoqgeifearm: 31 Faromrqgescan dcoresis3a -[Question ID = 209][Question Description = S2_qSNz_PG_SNT_Q02]
1. Zaf¥a: [Option ID = 833]

2. uogfer: [Option ID = 834]

3. amgge: [Option ID = 835]

4. sedica: [Option ID = 836]

Correct Answer :-
e af¥a: [Option ID = 833]
3) ‘'sniig auer:' quicry smenfer -[Question ID = 210][Question Description = S2_qSNz_PG_SNT_QO03]

. APRER o w [Option ID = 837]

. a5 3 [Option ID = 838]

. ara, 3 [Option ID = 839]

. sewmur 3 [Option ID = 840]

A W N -

Correct Answer :-
® JIEASE! smeert ud [Option ID = 837]

4) forsTPIIR ddoaR 3ifdmEIetl saar o1?[Question ID = 211][Question Description = S2_qSNz_PG_SNT_Q04]
1. sog: [Option ID = 841]
2. aifdor: [Option ID = 842]

3. R [Option ID = 843]
4. amfécer: [Option D = 844]

Correct Answer :-
® 3og: [Option ID = 841]

5) 'de:’ s el yeran smafer -[Question ID = 212][Question Description = S2_qSNz_PG_SNT_QO05]

1. yrftfeerelarg [Option ID = 845]
2. fargemdgifea [Option ID = 846]
3. agew [Option ID = 847]

4. uf¥sveng [Option ID = 848]

Correct Answer :-
o iRk [Option ID = 845]

6) ‘ol 9re¢ @: gri:?[Question ID = 213][Question Description = S2_qSNz_PG_SNT_Q06]

1. STy [Option ID = 849]

2. <y [Option ID = 850]

3. &l [Option ID = 851]

4. % [Option ID = 852]

Correct Answer :-
e iy [Option ID = 849]

7) 'faouid seaq o: Afoerada ?[Question ID = 214][Question Description = S2_qSNz_PG_SNT_QO07]

1. sprifér: [Option ID = 853]

2. gsrnfe Afser: [Option ID = 854]

3. g e [Option ID = 855]

4. didafee: [Option ID = 856]

Correct Answer :-
e spRife: [Option ID = 853]

8) a1 a fadrrisnfafordfts:’ &: safei?[ Question ID = 215][Question Description = S2_qSNz_PG_SNT_QO08]



@t [Option ID = 857]
dacrER: [Option 1D = 858]
@ [Option ID = 859]

@r®: [Option ID = 860]

A WN -

Correct Answer :-
e oaf [Option ID = 857]

9) forrorferRany st arerqe 39] stdd 1l ?[Question ID = 216][Question Description = S2_qSNz_PG_SNT_Q09]
1. amadur [Option ID = 861]

2. gerfrer [Option ID = 862]

3. 3 [Option ID = 863]

4. sarcsEt [Option ID = 864]

Correct Answer :-
e gmaur [Option ID = 861]

10) gerdyorgia aqefarcz Refer: w3y il add ?[Question ID = 217][Question Description = S2_qSNz_PG_SNT_Q10]
et [Option ID = 865]
. Bigarell [Option ID = 866]
fireporareit [Option ID = 867]
. gerrell [Option ID = 868]

AN wnN -

Correct Answer :-
e el [Option ID = 865]

11) daoggrr: Faafdr: wisRa?[Question ID = 218][Question Description = S2_qSNz_PG_SNT_Q11]
. gwrafer [Option ID = 869]
. @aafe: [Option ID = 870]

. spafsr: [Option ID = 871]
. afferafdr: [Option ID = 872]

N

A wN

Correct Answer :-
e gwafdr: [Option ID = 869]

12) foaferlRaay i RigeEl olsla?

[Question ID = 219][Question Description = S2_qSNz_PG_SNT_Q12]
1. afer [Option ID = 873]
2. ge: [Option ID = 874]
3. sita: [Option ID = 875]
4. g@: [Option ID = 876]

Correct Answer :-
e ofor: [Option ID = 873]

13) sPraagRGRIRHENIRadY YIvr c1gvi o3 -

[Question ID = 220][Question Description = S2_qSNz_PG_SNT_Q13]
1. 3izer: [Option ID = 877]

2. 2q: [Option ID = 878]

3. feewr: [Option ID = 879]

4. 3mrgRr: [Option ID = 880]

Correct Answer :-

e 3izem [Option ID = 877]

14) "aoiea yfermeial d9ll AcdedRIioTr T i gIvIcieivl dAodedriior ofd smafoa?[Question ID = 221][Question Description =
S2_qSNz_PG_SNT_Q14]

1. 12 [Option ID = 881]

2. 15 [Option ID = 882]

3. 13 [Option ID = 883]

4. 14 [Option ID = 884]

Correct Answer :-
e 12 [Option ID = 881]

15) sensfEFopay QRIVRIRRIGRIR daarell oif¥da?

[Question ID = 222][Question Description = S2_qSNz_PG_SNT_Q15]
1. gk [Option ID = 885]

2. Rrfweet: [Option ID = 886]

3. 3wt [Option ID = 887]

4. ameek: [Option ID = 888]

Correct Answer :-
e gk [Option ID = 885]



16) srelsfEady =1 svren #Asryuy of uafa[Question ID = 223][Question Description = S2_qSNz_PG_SNT_Q16]
wiganrer [Option ID = 889]

. IwocyRA [Option ID = 890]

. geRadyzorz [Option ID = 891]

. araRgRReI [Option ID = 892]

A W N -

Correct Answer :-
o wsgarr [Option 1D = 889]
17) Herepidon giis &car usiodtol b smafer?[Question ID = 224][Question Description = S2_qSNz_PG_SNT_Q17]
g®: [Option ID = 893]
arcare: [Option 1D = 894]
. &gz [Option ID = 895]
aterr [Option ID = 896]

A w N -

Correct Answer :-
e go: [Option ID = 893]

18) srogare oofer srereir: Fgper: ?

[Question ID = 225][Question Description = S2_qSNz_PG_SNT_Q18]
1. g [Option ID = 897]

2. acar: [Option ID = 898]

3. wa [Option ID = 899]

4. us_[Option ID = 900]

Correct Answer :-
e = [Option ID = 897]

19) AISTacRRIRIGRIR JURY &: gdkRMurs: ?[Question ID = 226][Question Description = S2_qSNz_PG_SNT_Q19]
amwr: [Option ID = 901]

f1g: [Option ID = 902]

gus: [Option ID = 903]

o [Option ID = 904]

A W N -

Correct Answer :-
e 3mr: [Option ID = 901]

20) ArSTAcRRIIGRIR "Faemfcaferdre] s feeiRl FemuRauf?r’ siq 'feiRl’ oregz=1 Pisel: ?

[Question ID = 227][Question Description = S2_qSNz_PG_SNT_Q20]
1. oot gear [Option ID = 905]

2. oned gear [Option ID = 906]

3. gusfiear [Option ID = 907]

4. eoi gear [Option ID = 908]

Correct Answer :-
® grof gear [Option ID = 905]
21) INARIGlIGRIR udlsyr=I q A fafer: a1 fegzaa?[Question ID = 228][Question Description = S2_qSNz_PG_SNT_Q21]
sgdfafer: [Option ID = 909]
formIfafer: [Option ID = 910]
ufkinfafér: [Option ID = 911]
argerfafer: [Option ID = 912]

A W N -

Correct Answer :-
e siydfafer: [Option ID = 909]

22) FarcAarRIY®IoeR] Afcoruciiudre ofdafaeny ?[Question ID = 229][Question Description = S2_qSNz_PG_SNT_Q22]
1. fgfeeg [Option ID = 913]

2. Rifaewg [Option ID = 914]

3. usafdewy [Option ID = 915]

4. uf¥aew [Option ID = 916]

Correct Answer :-
o fgfdesy [Option ID = 913]
23) sfaRmufeGRIR deifydrmet: ofefaer:?[Question ID = 230][Question Description = S2_qSNz_PG_SNT_Q23]
. @R [Option ID = 917]
agffer: [Option ID = 918]
wsarer: [Option ID = 919]
. ufgaer: [Option ID = 920]

A W N -

Correct Answer :-
e fifaer: [Option ID = 917]



24) saRmufsHYGRIR e afdfien?[Question ID = 231][Question Description = S2_qSNz_PG_SNT_Q24]
. TRy [Option ID = 921]

. feffaersy [Option ID = 922]

. agfdesy [Option ID = 923]

wafdesy [Option ID = 924]

A W N -

Correct Answer :-
e fgfderr [Option ID = 921]

25) srenferRady FYRGIUABAPIIRRI draicaRuguly ddeper: [Question ID = 232][Question Description =
S2_qSNz_PG_SNT_Q25]

1. Swrcieft [Option ID = 925]

2. difafr: [Option ID = 926]

3. smerest [Option ID = 927]
4. 3z [Option ID = 928]

Correct Answer :-
e Swprleft [Option ID = 925]

26) yeraurcsmsiufy ‘ciicmadl’ doeeer=rguiar @: ?[Question ID = 233][Question Description = S2_qSNz_PG_SNT_Q26]
. ferarart: [Option ID = 929]
. 3cvelrart: [Option ID = 930]
offerz: [Option ID = 931]
offacar: [Option ID = 932]

A WN =

Correct Answer :-

o iafdrarart: [Option ID = 929]
27) enq - ymfa yeradiet orftpo)s @i stafer?[ Question ID = 234][Question Description = S2_qSNz_PG_SNT_Q27]
. @long [Option ID = 933]
. smaaraRg, [Option ID = 934]

. @rpRvng [Option ID = 935]
. w@srda: [Option ID = 936]

N

A w N

Correct Answer :-
® mlong [Option ID = 933]

28) IR - d9iftipor siciifdpep! w=iuR: wbfeafaer:?[Question ID = 235][Question Description = S2_qSNz_PG_SNT_Q28]
1. fgfer: [Option ID = 937]
2. ffder: [Option ID = 938]
3. wi¥aer: [Option ID = 939]
4. aqfde: [Option ID = 940]

Correct Answer :-
o fgfder: [Option ID = 937]

29) 'dcrod - ulf¥sd - HieE] s BrRIGuR dwrleera af¥yar o: ?[Question ID = 236][Question Description =
S2_qSNz_PG_SNT_Q29]

1. 2wigeiart: [Option ID = 941]

2. forrarmfart: [Option ID = 942]

3. searart: [Option ID = 943]

4. acesrart: [Option ID = 944]

Correct Answer :-

o uigart: [Option ID = 941]
30) ACHREWYSRAY SAIGARIFYSRRA Yada: @: ?[Question ID = 237][Question Description = S2_qSNz_PG_SNT_Q30]

1. @gararf: [Option ID = 945]

2. orgmerart: [Option ID = 946]

3. Pwarsfart: [Option ID = 947]

4. geemsrart: [Option ID = 948]

Correct Answer :-
e grearari: [Option ID = 945]
31) 'acaerfl’ for Is@aRt o 9fd: ?[Question ID = 238][Question Description = S2_qSNz_PG_SNT_Q31]
. dedaru@r [Option ID = 949]
. gecRwIDufomG: [Option ID = 950]
. Bogweiufome: [Option ID = 951]
. swsgRuferye: [Option ID = 952]

AN wN -

Correct Answer :-
o bdaxmudi [Option ID = 949]

32) ‘armrilcag A vardr, Fidesieauiidaard aaaia o aq siaf¥, agidacaiicimaad siftrorie formapasy sfer aramravssr awRRare]



deredcolol sila - grArcHsiRGzi forrpad ?[Question ID = 239][Question Description = S2_qSNz_PG_SNT_Q32]
. admsreda [Option ID = 953]
. seqdsied [Option ID = 954]

. IRedgied [Option ID = 955]
4. dgcciederoa [Option ID = 956]

wN—\

Correct Answer :-

® 3gaderied [Option ID = 953]

33) selsfEoay FceRigea=a 3R ond fepafa ?[Question ID = 240][Question Description = S2_qSNz_PG_SNT_Q33]
. sprsatierr: [Option ID = 957]
. ugergellerr: [Option ID = 958]

. Jsrsefior:: [Option ID = 959]
. ausaflorr: [Option ID = 960]

AWN—\

Correct Answer :-

o sprgefiorr: [Option ID = 957]

34) FiIGIARRIR Tg: Alfcad Fugid[Question ID = 241][Question Description = S2_qSNz_PG_SNT_Q34]
1. siereREoaR [Option ID = 961]

2. emitsiet fmr derlsy [Option ID = 962]

3. e oxg - yeprerpieredy [Option ID = 963]

4, Fa: oeciserIel a [Option ID = 964]

Correct Answer :-

® sierREEeraRl [Option ID = 961]

35) ©Y arcloAIRPralSaAIIRRICIG]
srrarforcoraencyi fopn forafgar=r ar
sfer Rragifitprarsu o6 yaagaisRa adgeferisg ?

[Question ID = 242][Question Description = S2_qSNz_PG_SNT_Q35]
yuiygsigelot [Option ID = 965]

geafdrstagetsr [Option 1D = 966]

dtagefar [Option ID = 967]

sicgetlor - urguAgelol [Option ID = 968]

A W N -

Correct Answer :-
e yuiysicofol [Option ID = 965]

36) Idcyicrios ispdid APGISIGOTGIGTARY reiferRady b ard suftpRIg! AsrIpanay of afvias?[Question ID = 243][Question
Description = S2_qSNz_PG_SNT_Q36]

fadep: [Option ID = 969]

fst: [Option ID = 970]

foiferem [Option ID = 971]

spRRe: [Option ID = 972]

A w N =

Correct Answer :-
e fq@®: [Option ID = 969]

37) marHa Fafar oisR«a -[Question ID = 244][Question Description = S2_qSNz_PG_SNT_Q37]
1. w@ifererar: [Option ID = 973]

2. am: [Option ID = 974]

3. Rweorer: [Option ID = 975]

4. #fecrener: [Option ID = 976]

Correct Answer :-
e miferere: [Option ID = 973]

38) 'aqgdeiwayiff: Jrarccufrmaftl el o wicai ada .[Question ID = 245][Question Description = S2_qSNz_PG_SNT_Q38]
1. @recigor [Option ID = 977]

2. wreaygisat [Option ID = 978]

3. =Rl [Option ID = 979]

4. @reaew [Option ID = 980]

Correct Answer :-
e orrcigl [Option ID = 977]

39) RPaoleRIARIR IPNATPRIIMRE: Pl b Fareur srafod?

[Question ID = 246][Question Description = S2_qSNz_PG_SNT_Q39]
1. Scadaaa: [Option ID = 981]

2. orefoar: sem: [Option ID = 982]

3. eacgmierm: [Option ID = 983]

4. oreasismr: [Option ID = 984]



Correct Answer :-
® 3coptiada: [Option ID = 981]

40) frarafienenR] wRusdl diead u=: ' RphRI o AveH gg=Ia?

[Question ID = 247][Question Description = S2_qSNz_PG_SNT_Q40]
etgonga: [Option ID = 985]

. =polongal: [Option ID = 986]

sifirerger: [Option 1D = 987]

. drgerge: [Option ID = 988]

A W N -

Correct Answer :-
e crgumge: [Option ID = 985]

41) @ 2 Iore! faghi - Wwagl Fa: -

A. o 3cer d yden a

B. sogfe II=ieR:

C. a3 arsit

D. el 3

[Question ID = 248][Question Description = S2_qSNz_PG_SNT_Q41]
Awd B [Option ID = 989]
B wd C [Option ID = 990]

C wd D [Option ID = 991]
Avd D [Option ID = 992]

A wWN =

Correct Answer :-
e Avud B [Option ID = 989]

42) @I Jt PRI - HrRIeRI ¥44: -

A. Aror:

B. @fdsor:

C. orgget:

D. srclecdlesIgiureAR:

[Question ID = 249][Question Description = S2_qSNz_PG_SNT_Q42]
1. Awd B [Option ID = 993]

2. Bwud C [Option ID = 994]

3. Cud D [Option ID = 995]
4. Awd D [Option ID = 996]

Correct Answer :-
e Awd B [Option ID = 993]

43) srensfyaay o gRARPageff - fpiftpfafer ?

A. 3rete

B. surx

C. sriet

D. scuet

[Question ID = 250][Question Description = S2_qSNz_PG_SNT_Q43]
Awd D [Option ID = 997]
Awd B [Option ID = 998]

B wd C [Option ID = 999]
C ud D [Option ID = 1000]

AW N =

Correct Answer :-
e Avwd D [Option ID = 997]

44) ot g Icad=d Fa: -
A. ot
B. siieter



C. forsa:

D. silacil

[Question ID = 251][Question Description = S2_qSNz_PG_SNT_Q44]
Awd B [Option ID = 1001]

B wd C [Option ID = 1002]

C wi D [Option ID = 1003]
B wdi D [Option ID = 1004]

A W N -

Correct Answer :-
e Avud B [Option ID = 1001]

45) @l gl A=rRia-JAFagl Ida: -

A. yrark:

B. sfersfy

C. srearcaay

D. murcrea:

[Question ID = 252][Question Description = S2_qSNz_PG_SNT_Q45]
1. Awd B [Option ID = 1005]

2. Bud C [Option ID = 1006]

3. Cud D [Option ID = 1007]
4. Avd D [Option ID = 1008]

Correct Answer :-

e Avud B [Option ID = 1005]
46) ga¥ud: IRBI Bl I
A. ik

B. ger:

C. om:

D. orfor:

[Question ID = 253][Question Description = S2_qSNz_PG_SNT_Q46]
B ud C [Option ID = 1009]

Awd B [Option ID = 1010]

Avud D [Option ID = 1011]
C wd D [Option ID = 1012]

A W N -

Correct Answer :-
e Bud C [Option ID = 1009]

47) forrorfeiRady oael 2aofl siforawdl ¥a:
A. au:

B. @onn

C. o

D. gem

E. s

[Question ID = 254][Question Description = S2_qSNz_PG_SNT_Q47]
Awd D [Option ID = 1013]

Avwd B [Option ID = 1014]

B ud C [Option ID = 1015]
C wd D [Option ID = 1016]

AN w N -

Correct Answer :-

e Awd D [Option ID = 1013]

48) copmmar i foreril fraria?
A. srrprogfer:

B. Isrien:



C. w1

D. sioRreg

[Question ID = 255][Question Description = S2_qSNz_PG_SNT_Q48]
Awd C [Option ID = 1017]

Awd B [Option ID = 1018]

C wi D [Option ID = 1019]
B wd D [Option ID = 1020]

A WN -

Correct Answer :-
e Avud C [Option ID = 1017]

49) foroiferRaay ol g rIANRquil ad:

A. oifercrr:

B. a1garc:

C. 9gm:

D. sirotegaekor:

E. offati:

IfId frped R -

[Question ID = 256][Question Description = S2_qSNz_PG_SNT_Q49]
Awd B [Option ID = 1021]

B wd C [Option ID = 1022]

B ud D [Option ID = 1023]
D wd E [Option ID = 1024]

A w N =

Correct Answer :-
e Avud B [Option ID = 1021]

50) "fora: ufer: offerfer o1 SPISSEIfcoaril aISaeTsIfer” 31q AARIGAl LI IeC] BY Fl:
A. oftafer

B. foRr:

C. =ifer

D. onfRrg
E. ufer:
AR foed Riege -

[Question ID = 257][Question Description = S2_qSNz_PG_SNT_Q50]
1. Awd C [Option ID = 1025]
2. Awd B [Option ID = 1026]
3. Cwd D [Option ID = 1027]
4. Avud D [Option ID = 1028]

Correct Answer :-

e Avud C [Option ID = 1025]

51) werpiden ogufigy ol srad:
A. uqge

B. DAu:

C. siisioleg

D. ferer:

[Question ID = 258][Question Description = S2_qSNz_PG_SNT_Q51]
Awd B [Option ID = 1029]

Awd C [Option ID = 1030]

C wd D [Option ID = 1031]
B ud D [Option ID = 1032]

A WN =

Correct Answer :-
e Avud B [Option ID = 1029]

52) HAPFHAGAR oD D HAd:
A. 3udeiy

A



B. auocte

C. oot

D. gfergfeima

[Question ID = 259][Question Description = S2_qSNz_PG_SNT_Q52]
1. Awd B [Option ID = 1033]

2. Awd C [Option ID = 1034]

3. Bwd C [Option ID = 1035]
4. Bud D [Option ID = 1036]

Correct Answer :-

e AwdB [Option ID = 1033]

53) AISTAcRRFFIGRAR FTUISY DI SIRIA?
A. JcarcreforRed:

B. usw:

C. UBCRIRIAD:

D. siforagygardt

JfId fped R -

[Question ID = 260][Question Description = S2_qSNz_PG_SNT_Q53]
Awd B [Option ID = 1037]

Avwd C [Option ID = 1038]

Avud D [Option ID = 1039]
B ud D [Option ID = 1040]

A w N =

Correct Answer :-

e Aud B [Option ID = 1037]

54) NARMURHYIGRIR BRRIGHIT BT sa: -

A. arasofiaaf3srag, g

B. arrci *aaarerdid i

C. foi¥reen:

D. Faorferef golguiarrie::

[Question ID = 261][Question Description = S2_qSNz_PG_SNT_Q54]
1. Awd B [Option ID = 1041]

2. Cwd D [Option ID = 1042]

3. Bud D [Option ID = 1043]
4. Avd D [Option ID = 1044]

Correct Answer :-

e Auwd B [Option ID = 1041]

55) MARMURMHIGRIE BASAL: URFURH JFToLL:?

A. faoferizor:

B. didior Querfer

C. soflercelia

D. qiélorasfoa

[Question ID = 262][Question Description = S2_qSNz_PG_SNT_Q55]
Ad B [Option ID = 1045]
Awd D [Option ID = 1046]

Avud C [Option ID = 1047]
B wd D [Option ID = 1048]

A wWw N =

Correct Answer :-
e Avud B [Option ID = 1045]

56) sur - AARwcolerdican drerarcafdon AreRt fovay ?

A. sderacasg
B. sduchinBreasy



C. uofaras

D. gear#smeay

E. uards

[Question ID = 263][Question Description = S2_qSNz_PG_SNT_Q56]
1. Awd C [Option ID = 1049]

2. Awd B [Option ID = 1050]

3. Cwd D [Option ID = 1051]
4. D ud E [Option ID = 1052]

Correct Answer :-
® Avwd C [Option ID = 1049]

57) senfeiRady omesdld) wRUIg by ?

A. smrafersirorey

B. uzsdETae

C. sgaeuy

D. smpcasg

E. arcaisiets

[Question ID = 264][Question Description = S2_qSNz_PG_SNT_Q57]
Awd B [Option ID = 1053]
B wd C [Option ID = 1054]

Avud E [Option ID = 1055]
D wd E [Option ID = 1056]

AN wN -

Correct Answer :-
e Avud B [Option ID = 1053]

58) srsioR=I e - fe ST BIRAT IECIRIT RIaEAA?
A. gRISID:

B. =

C. Suif:

D. sifdrerm .

[Question ID = 265][Question Description = S2_qSNz_PG_SNT_Q58]
Awd C [Option ID = 1057]
B wd D [Option ID = 1058]
B wd C [Option ID = 1059]
C wd D [Option ID = 1060]

A w N =

Correct Answer :-
e Avud C [Option ID = 1057]

59) srgadcrod Sl - JIBUIRERPIEHDIZIY 3 Bl Id: ?
A. faga:

B. srsarr:

C. 3Ry

D. srefars:

E. Ricrima:

[Question ID = 266][Question Description = S2_qSNz_PG_SNT_Q59]
B ud D [Option ID = 1061]

Awd C [Option ID = 1062]

B wd E [Option ID = 1063]
D ud E [Option ID = 1064]

A W N -

Correct Answer :-
® Bud D [Option ID = 1061]

60) ' aramril’ cnfasrarRRARGUsIldIg®] AFdetdd ol Fd: ?



[Question ID = 267][Question Description = S2_qSNz_PG_SNT_Q60]
1. Awd B [Option ID = 1065]
2. Bwud C [Option ID = 1066]
3. Cud E [Option ID = 1067]
4. CwiD [Option ID = 1068]

Correct Answer :-
e Avud B [Option ID = 1065]

61) RURIRRIGRIRALNSFPAY Bl S yferell aa: ?

A. Yrad: Yerr:

B. sifor=r: gerr:

C. surgmd: yerr:

D. forea: gerr:

[Question ID = 268][Question Description = S2_qSNz_PG_SNT_Q61]
Awd D [Option ID = 1069]

B ud D [Option ID = 1070]

C wd D [Option ID = 1071]
Awd C [Option ID = 1072]

A W N -

Correct Answer :-
® Avwd D [Option ID = 1069]

62) srensf¥oday @1 S srearit Jaml Fa: ?

A. fiagoragiari HISeNseuRr:

B. oiegeradiart SiconsearT:

C. #RA firuduft acaifionsearr:

D. serRA sfisarudvfl srecerfdonsedrr:

[Question ID = 269][Question Description = S2_qSNz_PG_SNT_Q62]
Awd C [Option ID = 1073]

Awd B [Option ID = 1074]

B vd D [Option ID = 1075]
Avud D [Option ID = 1076]

A WN -

Correct Answer :-

e Awd C [Option ID = 1073]

63) SrENsiEFoay DAL AFTLL:?
A. Aqgifoas:

B. ameznfirs:

C. dloruer:

D. f¢geier:

I fed Riega -

[Question ID = 270][Question Description = S2_qSNz_PG_SNT_Q63]
1. Awd D [Option ID = 1077]

2. Buwd C [Option ID = 1078]

3. Cud D [Option ID = 1079]
4. Avud C [Option ID = 1080]

Correct Answer :-
e Awd D [Option ID = 1077]

64) srensiEody - STfer - 91 - PIcl AR AIfcSooll: ATTHIAT ASIIAH SRIGRIR FBIYA D I ?



A. aron

B. gererRisr

C. grIBR:

D. smaf¥sfs:

[Question ID = 271][Question Description = S2_qSNz_PG_SNT_Q64]
Awd C [Option ID = 1081]

Ad D [Option ID = 1082]

B wd D [Option ID = 1083]
B wd C [Option ID = 1084]

AW N -

Correct Answer :-

® Avud C [Option ID = 1081]

65) arElsiFoay ARRICIGIGRIR gapfd - fawmida Fa: -
A. 9rsc:

B. smropror:

C. sBgDR:

D. gferdt

[Question ID = 272][Question Description = S2_qSNz_PG_SNT_Q65]
Awd B [Option ID = 1085]

B wd C [Option ID = 1086]

C wd D [Option ID = 1087]
Avd C [Option ID = 1088]

A w N =

Correct Answer :-
e Awd B [Option ID = 1085]

66) AcDICPIVGHIITRI Dol Fs PR AFdoer: ? Wdflori arfermt Riega

crferenr - | erferenr - 11

A. Famdl gareleg Al I. g, 2500

B. drct sieneR fererm: 1. $g, 1200

C. fawezfors] Ill. Jee: grasr:

D. Ja=mIcR: IV. £. g, ucreadiss: gray
Agfad feed Riga -

[Question ID = 273][Question Description = S2_qSNz_PG_SNT_Q66]
1. A-1,B-1I,C-1V,D-1l

[Option ID = 1089]
2. A-1IL,B-1V,C-1,D-Il

[Option ID = 1090]
3. A-IL,B-1,C-1,D-1IV

[Option ID = 1091]
4. A-IV,B-1l,C-1,D-1l

[Option ID = 1092]
Correct Answer :-
e A-I,B-1ll,C-1IV,D-1l

[Option ID = 1089]

67) A JYA ARIG, Aclel BHA :

icferepr - | afereor - 11
A. ITHENGIAR l. Sog:

B. us<eTad Il. sgdifa:
C.qafi¥qera lll. sr=ritsma
D. fepel: IV. f&ar:
Agfrd faed Rigpa -

[Question ID = 274][Question Description = S2_qSNz_PG_SNT_Q67]
1. A-1l,B-1,C-1l,D-IV[Option ID = 1093]
2. A-1ll, B-1V,C-1,D- Il [Option ID = 1094]
3. A-1IV,B-1ll, C-1I, D -1 [Option ID = 1095]



4. A-1,B-1l,C-1ll, D -1V [Option ID = 1096]

Correct Answer :-
e A-Il,B-1,C-1ll, D-IV[Option ID = 1093]

68) 31 Dol Az DA AFIGLL: ?

cferepr - | cferept - 11

A. fasr: I. graferfer:

B. 4,32, 000 diauifor Il. sdrucRiacs:
C. =1 ferell Ipilcl of srafer Ill. ofergeR=1 Ato13
D. af¥3re] AR PR Agaifod: o safer IV. sif2rEir:

gk e Rrog -

[Question ID = 275][Question Description = S2_qSNz_PG_SNT_Q68]
A-1l,B-1ll,C-1,D-IV[Option ID = 1097]
A-1,B-1l,C-1ll, D -1V [Option ID = 1098]
A-1l,B-1,C-1ll, D -1V [Option ID = 1099]
A-1V,B-1l,C-1,D - lll [Option ID = 1100]

A w N -

Correct Answer :-
e A-Il,B-IIl,C-1,D-IV[Option ID = 1097]

69) anelsfEoay dol As DRI AFdoLl:

icfereor - | afereor - 11

A. gaI - el |. dapeRet:

B. garat: Il. weavr:

C. wlare: lll. grayaeset:

D. IRl IV. giopa - dape - =1
Agfrd fawed Riopa :

[Question ID = 276][Question Description = S2_qSNz_PG_SNT_Q69]
1. A-1lI,B-1IV,C-Il,D-1[Option ID = 1101]
2. A-IV,B-1,C-1l,D-Ill [Option ID = 1102]
3. A-1l,B-IIl,C-1V, D-1I[Option ID = 1103]
4. A-1I,B-1,C-1V,D- Il [Option ID = 1104]

Correct Answer :-
e A-IlIl,B-1IV,C-Il,D-1I[OptionID = 1101]

70) ATHAACRRIRIGRIR Dol AUE D] IFAGLL: ?

eferepr - | afereor - 11

A. srygrcif¥«Ri Ecar |. sarofiergen: S
B. wlcreararfde Il. 9gaeargd @
C. seaf) Il. gremravisrt

D. 5 Fawa TRIRIA SusTe FaciadRia IV. gamsu: Sa:

[Question ID = 277][Question Description = S2_qSNz_PG_SNT_Q70]
1. A-1l,B-1V,C-1,D- Ill [Option ID = 1105]
2. A-1,B-1l,C-1V,D-Illl [Option ID = 1106]
3. A-1,B-1ll, C-1V, D - Il [Option ID = 1107]
4. A-1,B-1V,C-1l,D-lll [Option ID = 1108]

Correct Answer :-
e A-Il,B-1V,C-1,D-Ill [Option ID = 1105]

71) IMARMRIRIYPINGRAR Dol HE DI AFIGLL: !

cferepr - | aferept - 11

A. coarerelfg e dac faelizenei ot I. sif2rorRfafer:
B. faraferfaors: Il. IRIgUBRDH
C. oI yasionr: Ill. forraferfer:
D. ugisyr=a g i fafer: V. @a:

Jeiiedlen arferot el :

[Question ID = 278][Question Description = S2_qSNz_PG_SNT_Q71]
A-1,B-1V,C-1l,D- Il [Option ID = 1109]
A-1l,B-1V,C-1ll,D-1[OptionID = 1110]
A-Il,B-1V,C-1,D-Ill [Option ID = 1111]
A-IV,B-1,C-1l,D-Ill [Option ID = 1112]

A W N -

Correct Answer :-



e A-I,B-1IV,C-Il,D-Ill [Option ID = 1109]

72) 31 @0l As DA AFTGLL: ?

arferent - | arferent - 11

A. 3IRFIEAIG: |. NerAfosIm:

B. RIRRIR: Il. JIHAAREIaRT:

C. ciifopapaafootat: lll. am=r - SoifyepIfderd:
D. siciifcasafooramd: IV. s - Jrcfst:

[Question ID = 279][Question Description = S2_qSNz_PG_SNT_Q72]
A-1,B-1l,C-1l,D-IV[Option ID = 1113]
A-1IV,B-Il,C-1l,D-1[Option ID = 1114]
. A-1lll,B-1V,C-1l,D-1[Option ID = 1115]
A-1l,B-1,C-1ll, D-IV[Option ID = 1116]

A W N -

Correct Answer :-
® A-I,B-Ill,C-1l,D-IV[Option ID = 1113]

73) 31 Dol DR AFdoLL:

aferepr - | aiferepr - 11

A. JoISToiRT |. T =1 YIoTl Scpratodd
B. facsgfpdifeio offtrRa 1. gitenffRufder

C. sraalscIemygen 11, forepr=:

D. Jaradiscaemgen V. ferad:

oy Agfr e forgge -

[Question ID = 280][Question Description = S2_qSNz_PG_SNT_Q73]
1. A-1,B-1l,C-1ll, D- IV [Option ID = 1117]
2. A-1I,B-1,C-1l,D-IV[Option ID = 1118]
3. A-Il,B-1,C-1IV,D-Ill [Option ID = 1119]
4. A-1IV,B-1ll,C-1,D- Il [Option ID = 1120]

Correct Answer :-
e A-I,B-1l,C-IlIl,D-IV[Option ID = 1117]

74) snensfEody Dol As DRI AFdoL:

arfereor - | ferent - |1

A. Rraasfaricloc B adR-UIGTHI AYSIIC: |. FrizIG9feTe
B. 3tcopriarc: Il sméecotons
C. gdisdcuraras: lll. diggolerer
D. demarsiiqao: IV. eiercefors

[Question ID = 281][Question Description = S2_qSNz_PG_SNT_Q74]
A-1l,B-1I,C-1,D-IV[Option ID = 1121]
A-1,B-1l,C-Ill, D - IV [Option ID = 1122]
A-1lll,B-1V,C-1,D-Il[Option ID = 1123]
A-1IV,B-1,C-1l,D-Ill [Option ID = 1124]

A WN -

Correct Answer :-
® A-Il,B-IIl,C-1,D-IV[Option ID = 1121]

75) 31 Dol e DR AddoLl:

eferepr - | aferenr - 11
A. fepasieerst siczreg |. fdcrcdurey
B. draRi R/ACHAD DIRIIH 1. srfSorgIuTay
C. Adferarelaier: Ill. ergrom
D. JRIur IV. siféren

[Question ID = 282][Question Description = S2_qSNz_PG_SNT_Q75]
A-1,B-1l,C-1ll, D-IV[Option ID = 1125]
A-I1l,B-1,C-1V,D-lll [Option ID = 1126]
A-1,B -1, C-1V, D - Il [Option ID = 1127]
A-1IV,B-Il,C-1,D-Ill [Option ID = 1128]

A W N -

Correct Answer :-
® A-I,B-1l,C-IlIl,D-IV[Option ID = 1125]

76) TocAi WAARIA MR IRATRIR ayi ol -



A. dftp, SIRK]l, 3relscy, Jacil, 3fturay
B. smadl, sfura, srescy, gadil, uftp
C. gadil, 3ralecy, 3ftura, uftp, SRl

D. sm=refl, gaeil, ufep, 3ftvra, srerecy

[Question ID = 283][Question Description = S2_qSNz_PG_SNT_Q76]
1. A

[Option ID = 1129]
2. D

[Option ID = 1130]
3. C

[Option ID = 1131]
4. B

[Option ID = 1132]
Correct Answer :-
e A

[Option ID = 1129]

77) 'cAlSAARIG: $EIRI YA ICIE0Mell APRIA i froxe -
A. uraw:, orRI®:, v, 5231
B. aIrIas:, 339, fouid, urad:
C. faourd, 3R, olRIMb:, UIddD:
D. 333, fourd, &IRIG:, UrdD:

[Question ID = 284][Question Description = S2_qSNz_PG_SNT_Q77]
A [Option ID = 1133]
B [Option ID = 1134]
C [Option ID = 1135]
D [Option ID = 1136]

A W N -

Correct Answer :-
e A [Option ID = 1133]

78) aifocenfor acaits s1gIufdT ograpdIvT feR=Ieam

A. ITRpIqUcd, galiigued, Jacddl, oafder

B. gabnqucd, Yadl, orafimn, SaRmgue

C. orafiren, yafuigues, Seemgucd,

D. Yaril, Saepiques, galgusd, orafsrar

Agfrd fresed Rigpa -.

[Question ID = 285][Question Description = S2_qSNz_PG_SNT_Q78]
A [Option ID = 1137]

C [Option ID = 1138]

B [Option ID = 1139]
D [Option ID = 1140]

A W N -

Correct Answer :-
e A [Option ID = 1137]

79) Agd HGd A YA TAGCAH
GIUTCISOIRIDITol QRIVIIT JoId goId

JWRITH 231D quicIpIAIGRIRY eNfeiRadreti YRIvieli ARIT: aut: @: ?
A. Fwoc:

B. ferser:



E. agt:

[Question ID = 286][Question Description = S2_qSNz_PG_SNT_Q79]
1. A, B, E, D, C [Option ID = 1141]
2. C, A, B, D, E [Option ID = 1142]
3. D, B, C, E, A[Option ID = 1143]
4. D, B, E, A, C [Option ID = 1144]

» By

Correct Answer :-
e A B, E, D, C[Option ID = 1141]

80) IUISTdcCRIFFATAR SUsHGioruvl JHfrd @i Riotda ?

A. arsgus:

B. eccus:

C. ascus:

D. fecus:

[Question ID = 287][Question Description = S2_qSNz_PG_SNT_Q80]
. A, B, D, C [Option ID = 1145]
A, D, B, C [Option ID = 1146]

D, A, B, C [Option ID = 1147]
A, B, C, D [Option ID = 1148]

A w N =

Correct Answer :-
e A, B, D, C [Option ID = 1145]

81) MARMURBHMYIGRIR JErEaNGHdH Regd -
A. 3prareIs
B. walcaferaraRisg
C. BeIRPIaraIE
D. werararey
[Question ID = 288][Question Description = S2_qSNz_PG_SNT_Q81]
A, B, D, C [Option ID = 1149]
, A, D, C [Option ID = 1150]

1.
2. B

3. B, D, C, A [Option ID = 1151]
4. D, A, B, C [Option ID = 1152]

Correct Answer :-
e A B, D, C[Option ID = 1149]

82) senferiad - R - AADGl6ISLeeIsIl DICTRATIAR forertzui oo -

A. FIRIDocedl, MCATAlIdd:, ADHHI, ADAIOLG:

B. sncaarafdded:, AdHINI, IRIDBoGll, ADAIIYS:

C. adsamr, cAdwafdd®:, aBAFoE:, oARIDoGCl

D. asasolE:, ddHIl, RIRIDboGel, ATCIdTAidddD:

[Question ID = 289][Question Description = S2_qSNz_PG_SNT_Q82]
B [Option ID = 1153]
C [Option ID = 1154]

. A [Option ID = 1155]
D [Option ID = 1156]

AW N -

Correct Answer :-
e B [Option ID = 1153]

83) seifeRaadcIeArarIivI SreIfel DIcTaeRIR ferad -
A. IErctiel:, IEIESE:, MelocRIR:, SRIdlef:
B. 2raArolSt:, 3Meleciorte:, IMarciiel:, SrRidlef:
C. 3notocf3Ife:, IAGISE:, SRIdlel:, Jrardlel:



D. sradiel:, snotocfeIfy:, erclel:, raroSt:

[Question ID = 290][Question Description = S2_qSNz_PG_SNT_Q83]
1. A [Option ID = 1157]

2. C[Option ID = 1158]

3. B [Option ID = 1159]
4. D [Option ID = 1160]

Correct Answer :-
e A [Option ID = 1157]

84) APRKIGIGRIR JAFYSIARIHIAIICIST GV ANSRIT
A. RRRIopIaIIE:

B. sii¥arargierazenias:

C. Racqprazaien:

D. srolecIglora JAHIRL:

[Question ID = 291][Question Description = S2_qSNz_PG_SNT_Q84]
1. A, D, C, B [Option ID = 1161]
2. D, C, A, B [Option ID = 1162]
3. C, A, D, B [Option ID = 1163]
4. B, A, D, C [Option ID = 1164]
Correct Answer :-

e A, D,C, B [Option ID = 1161]

85) forafeRaan: srrg@ronlqur: JPRMadiaiuR! ®rcadiv fer=Ioamny ©

A. 3ielecatlor:, HEIE:, sRAYHfor:, 3G

B. amet:, sielocasker:, sragfor:, es:

C. sradfor:, s1¥1E:, A3el:, 3MelocAatior:

D. smare:, a6t 3ielocation:, seadfor:

[Question ID = 292][Question Description = S2_qSNz_PG_SNT_Q85]
1. C [Option ID = 1165]

2. D [Option ID = 1166]

3. B [Option ID = 1167]
4. A [Option ID = 1168]

Correct Answer :-
e C [Option ID = 1165]

86) srenferRad wereis: add, (A) sfer sifSrperedy (R) sfer a oruE
(A) sifdrperord @ Pl doara AdRN AJRIRNBT JERISIOATRIT IGRI ARIR T FART ARVIRI T
(R) @Ry : Adlfd AdurRdi=n: 58 ad Fdiadisa
3R fawed fRrgga
[Question ID = 293][Question Description = S2_qSNz_PG_SNT_Q86]
aifdrperom (A) st 3R weog wrue (R) olRiw [Option ID = 1169]

aifdrepereta] (A) siojferae] aen @ wrue (R) 3R [Option ID = 1170]
aifdrpercta] (A) aer a oruw] (R) 39ri 3R [Option ID = 1171]

sifdraerordy (A) aenm a @Rl (R) 3R oiiferas [Option ID = 1172]

A WN -

Correct Answer :-
o ifdrerord] (A) sfer 3ferey ueog @ruE (R) i [Option ID = 1169]

87) sreiferfad wereiga add, (A) sfr sifireremy (R) sfr o oy |
sifdieperom (A) : AeRigua a2 |

oo (R) @ fioorazdell: Amemriq suam o |

Wk wecigaafige forafemany Agfiae sz o -

[Question ID = 294][Question Description = S2_qSNz_PG_SNT_Q87]
1. 3ot (A) wd (R) arcag, (A) seerr (R) rggeae wrus |

[Option ID = 1173]



2. 39rI (A) vd (R) A9, wog (R) of DRUI ifdidercRe |

[Option ID = 1174]
3. aifdrperer] (A) AP Woq (R) PRUML of AL |

[Option ID = 1175]
4. sifdrperere] (A) denm dRuE (R) I9RE] 3RIRHL |

[Option ID = 1176]

Correct Answer :-

® 33Rf (A) vd (R) ame, (A) s (R) Adgcad DRl |
[Option ID = 1173]

88) aenferRad wersigRi add, dq uwd sifdierciay (A) e a3 @rvui (R) sfer -
siffrepertd] (A) @ SHAAAGIBACRIMPIGRIR GRIMPINS: of ABID: |

®RuE] (R) : fsplse=r =1 yiRiq gocwi, adq sremeT s Qiepeard |
SuwRfmearsGIIftrpe forrontyaay agfagas figd |

[Question ID = 295][Question Description = S2_qSNz_PG_SNT_Q88]

1. (A) - sfer srggfercrag (R) - sfer Sfereraq |

[Option ID = 1177]
2. (A) - sttt sRie (R) - sl arggRrema |

[Option ID = 1178]
3. (A) - sfer srggferewr (R) - sfer sgfera |

[Option ID = 1179]
4. (A) - sfr sRrewy (R) - sfr 3R |

[Option ID = 1180]

Correct Answer :-

® (A) - sfer srggferaer (R) - sfer 3wy |
[Option ID = 1177]

89) arenferlRad wereig: add, daq vad ifdrmerctd] (A) aen a3 wrve (R) s -

f¥rpereid] (A) ;| FAFARPURAUSYGISIIo] JEIHARIDISIGHEILG GRI 3d - IRURKUSYSIT AlgIcdIsRaciacerBaAl Sfiaegp! smafer
PR (R) : 3116l - dcmRl - JARMAPH - FIRI - RIS s3It S1ffracarg geiforsoearg

SISO foratifpay Jrgforas 3a3 forge -

[Question ID = 296][Question Description = S2_qSNz_PG_SNT_Q89]

1. 3ifdrperets (A) 3R, drRup (R) sogfrdas |

[Option ID = 1181]
2. 39RE (A) vd (R) ey aen (A) s (R) st gfepga orum |

[Option ID = 1182]
3. aifdreperer (A) 3Riae onf¥d, fboq druml (R) st sfmawla |

[Option ID = 1183]
4. sifdrperetd (A) der dRue (R) scyari Jefidiont, fboq ®RuE (R) 3fid onf¥a sifdrmerez (A) s |

[Option ID = 1184]

Correct Answer :-

o ifdrerord (A) 3Rras, @ruE (R) s |
[Option ID = 1181]

90) srenferlRad wereis:i add, aq vad sifdrapercts] (A) aen sraz wrRue (R) sk -

ifdreperoia] (A) @ 3aTd ACAGRICHABAGEDITE faforf goaa |

orue (R) : aoun B afd aer: Jvd rasadald ecrocmardskis sriwd Faua sfr ugl yrdier va qw: grgwing  faRienfeéa?t usiiaguusoit
3frd fawed fRigla :

[Question ID = 297][Question Description = S2_qSNz_PG_SNT_Q90]

1. sifdreverons (A) cer o @rRui (R) i sigiferca |

[Option ID = 1185]
2. aifdreperen] (A) 3fraer wrue (R) skt sojferaer |

[Option ID = 1186]
3. sifdrpereid (A) siofIas demr @ ®RuE (R) IR 3R |

[Option ID = 1187]
4. aifdrpereis (A) der a orue (R) 3frde |

[Option ID = 1188]



Correct Answer :-
o ifdrpercte] (A) denm a oRuE (R) I8RE Sggfrads |
[Option ID = 1185]

Topic:- Sanskrit_SHAAN_NOV21B

1) sreiferRRacdro] *oldAecio] ufdear sp]fciRadrell UsagesIolaR ferad -
ast: g yfer: offavIqel anferanforar

srafod AFUS SHAMBBIARRT sIRA

Sl cuUlsBEIGcI MYen: urswEa a

3SiTel ISR Urel JFUGHRIIIN

fofferel @RS SR GG

PRI: RIERAAT AHRFATHISA R RISIe
3IRY: ArddcIRIsAIIAIer ferefor:

an: Roper: Rerr gen siern: AfeaniiRn:
DCAFICTAUIICIUIAIUIBgIfecIidor:

3IIBIRI ISRIAT G:HMNPIEIRIYST:

ARG 31 gfer wRiftre o e
Sfearcaft ampie siistol aRRITRE
Safgsrrpyrsiysiol oliaarstas
JererRiARA T gk au I=aa

SRfthicHIGRIR 3elsfFaay o1 sdieud sifealaai¥a

[Question ID = 298][Question Description = S2_qSNz_PG_SNT_Q91]
1. @t [Option ID = 1189]

2. awri [Option ID = 1190]

3. emwm [Option ID = 1191]

4. 3@Qs: [Option ID = 1192]

Correct Answer :-
e oot [Option ID = 1189]

2) senferRaare] olaccsie] ufdear spjfeiRadre wayssiondmR ferad -
st g1l Yier: olfePIqal oniferanioran

sdfod AFUS SHABSIART HRd

gl cuUlsHEIeI Mlen: uswREd a

3rsiiol af3eeaR=T urel JAFUCHRIE

fefferei oINS GR ol9IeTHICHGT:

P DIERAT ABRAIAISAA R =Sl
3IRY: IcadcIRISRIEYNfer faefom:

= RBoee: Ferl gen smeRl: Arfcaait:
DCAFCICTAVIISUIAI U5 SIf G Tidor:

SMBRI ASRIAT G:FAPIRIYST:

AT SR gfer Wit @ e
SRecaft amde siistol APRATRD
SafESRIFYIsTgsTol offaratrsias
gererRiafdan a 9k au s&@a



SWRITBAGGHIGIRIRY, IElsTEmay o aprRaftR siistol safed ?

[Question ID = 299][Question Description = S2_qSNz_PG_SNT_Q92]

1. gsison [Option ID = 1193]
2. 3Rswesison [Option ID = 1194]

3. dtgunisony [Option ID = 1195]
4. wgnisoE] [Option ID = 1196]

Correct Answer :-

® giision] [Option ID = 1193]

3) smenferRaars] *elmccsie] ufdcar spjfeiRadret waysiondgaR ferad -
ast: g yfer: offaaqsl onferanforar

srafod AU SHABBIARI sIRa

gl GUlsHEIoI Mlen: uswEd a

31siTel AIfSSIIaR urel JAFUCHARIIIN

feffael oR®IRAE R ol9IeTAICHT:

DR DILFAU AHTATHISA T RIS
IRY: AcadcIRSRIEYIfer faefom:

3 Roeer: f3eRT gen seRn: Arfcadn it
BCAFCICTAVIICISUIc iU gifaGTidot:

BRI ISR G:EINDIRIYGT:

AT SR gfer wRiftd @ A
SRoccAft adied siistol ARRITR
SafGerpBIsTgsTol offaaTsias
JorerRIARA T gk au 3=

SRt AccHIGRIRALNSIFDAY [ argeErRi adl onfdda ?

[Question ID = 300][Question Description = S2_qSNz_PG_SNT_Q93]
1. e [Option ID = 1197]

2. gererfa [Option ID = 1198]

3. siggermzaraee [Option ID = 1199]

4. FarearRnsrior [Option 1D = 1200]

Correct Answer :-
® =g [Option ID = 1197]

4) srenferlRadre] *@Ipacsio] ufdear EfeilRadrcti ayssIeiR ferad -
s grem gfer: offa@iqial snfenforar

sdfod HAFUS SHABSIART HRd

call culsRPIGI MIe: URPREd a

3rsiiol af$reaR=T urel JAFUCHRIEIE

feifaei sRDRIS R SIIIGIHICHoT:

DIH: DIERAT ARATHISAT I oI

3Ry AcadcIRISRIEYIfer faefom:



an: Roper: RerT gen smeRn: Alfead it
DCAFICTAUIICIUII U gifaciidor:
3IIBRI ISRIIAT G:HNPIERIYST:
ATCRIE 3IRA gfer Wit @ e
SReccaft amied sistol ARRITRE
Saf&srpyreygsior oifaarsias
gereriafda a ok au sxa
3GILTD: At A fRfdd a ae
FATIRIMRRIGE A4 ARl duSRAA
JIol: YRAIG: JAlRIcd dloldrcafdafon]s:
serzio)f e oY AT

SwRitAccHIGTARALNSIFDAY DI b gra ?

[Question ID = 301][Question Description = S2_qSNz_PG_SNT_Q94]
1. ge: [Option ID = 1201]

2. amstmow [Option ID = 1202]

3. $waf [Option ID = 1203]

4. cior: [Option ID = 1204]

Correct Answer :-
® gia: [Option ID = 1201]

5) smenfeiRaare] elmaccsie] ufdcar spjfeiRadre wayssiondgmR frad -
st g yier: olfa@Iqial anferanforar

sdfod AFuS SHAMBSIART HRd

gl cUlsHEIoI Mlen: uPwREda a

3rsiTol anf3reaR=T urel JAFUCHRIIEN

feffarel oD RAS SR 9GO

DI DIERFAAT AHTATHATSAA R RISIA
3IY: AradcIRISIIE Yl faelor:

X Roeer: Ferr gen smerRn: Arfcaait:
DCAFCICTAVIIIIAI VIS gIfGIdot:

3MBRI ASRIAT G FANPIRIYST:

AT SR gfer Wit @ A
SRocAft adie siistel ARRIRE
SafESRFyIsTgsTol offarsmsias
FoeraRiAEr a 9mRRkR au IR

3Gl SoTep: araRi e fORIfdd o ey

Fol: YRIIG: AlRIcd dAletaArcAfiaforys:
MRS RARIAq aul AR

SRfhAccHIRIRALNS oy oI mREIFuq onfl¥a ?[Question ID = 302][Question Description = S2_qSNz_PG_SNT_Q95]
1. gaer: [Option ID = 1205]

2. vaifdwrmer: [Option ID = 1206]

3. ot [Option ID = 1207]

4. urswp [Option ID = 1208]

Correct Answer :-

e ggar: [Option ID = 1205]

Topic:- Sanskrit_SHAAN_NOV21C

1) swEyferRad siopesd< ufdear, srenferRad usayesite] 3 -



"orecrefaRn uf¥cd SumuRisrREaft gaviidifer senziemen Rigia: aRIReRIAe a Afecser greciel~a Adrafaeril s der afer gdged
sty forfdterfor serufdT Sfereen - YRIgIoAa sfrenvieter AR A3 Aar yricolen” sfer curior wad, Jeper Yewral gdIgrpioll
SASIIUTl MacaAdforzR: denfd Aoqavt: Aifer agIuivT [SIoales 3y afgil wnfor o1y fGgf sfer 31 Fuse gdgrprali slgiquuil fSfd, sreafed], 3wy,
3dil, oIy, g A Farely Refeso1 s84a o Anfel ugH f&: urord aifor G s181qfoT Anfor sfeafdl ATRIRY s YfeR-Alei sIgIgIuIl AlSToll
BAfT elcad vd T oeds SAfIeIRFItbIodd s1gIqifvT spanviicaperq dAqfiriencda ycgm: 319< fRraria It sigrquon dfaed sfoeramgpt
STUTGI DeRUUErd el 31 aeRI: Hoc) oleIvaft slgiquli Rerferstor o1 9recet genel el yRrg: Fefwrorl: duforafe SHedyciisaraemar

TEISodce: Aoldol:" SR acISUIURIA Tacd T AeIRI foTeIRI S PRUIBIURIGH YUl AR 9rRTenfer sfogandifor sreerfeiorfer sigrafor
af¥spdiarfer

' o1’ 3T 9recI Tl @Isek: Ipard ?

[Question ID = 303][Question Description = S2_qSNz_PG_SNT_Q96]
. atgigat [Option ID = 1209]

. gst: [Option ID = 1210]

. sigaerdiza [Option ID = 1211]

. amra: [Option ID = 1212]

A wWN =

Correct Answer :-
® Gigiger [Option ID = 1209]

2) spjferlacd eI ufdear, sreferRad usgesiio] Iaud -

"orecrefaRr uf¥cd SuaguRisrREitl yamiidifr sieRimren Rigia: IR a AfecseR:a 9resielR~a Adrafadril ISR aen Afer gdyed
sIEIforcorge:R forfdwerfor sigrgufdT sfereon - YRigeda spamvRasnfor aAfer A3 Agrar Yricololr” sfer oarRlel wad Jepa Yewpral gdympiol
SIeIquuTi stacefforar: denfd sroqavt: anfor sterqufdT feoasaf¥ey sreyy ygit anfor oroly fgf sfer a1 Tuse gdyepron stgrquun ffd, seafksl, sy,
agil, o1y, f3gl AR Ferely Referseel s34 a fol us f%: urerq afor i s1g1eidr mfor sroaf¥el ARy $RId Yfer-eIrsi sIgIqIull ASToll
DM e Td T Deds R RGIThIodd S1gIqIT senviicIperq dqirIencd yogm: 313 Raria it sigrquon dfe?d sfeeramgmt
SIUTGI DePUUEN il 3I¢] aGRT: Joc) olorsdft oIgIquuli RefersoI o1 9recad geirdl el YRIg: ARI9IRR dluforafs Sedacllsaraonar
THISYTceS: Hollddel:" SRIGAdcATSVIULRIA UAGd I Aol fo1eRI S RUIBIURTGT YUl Ao IRIReeIfel sfogardifer sreerfaorfer argrapior
uf¥srdiarfer

geIIfaeR et ot Rrgedt i axia ?[Question ID = 304][Question Description = S2_qSNz_PG_SNT_Q97]

1. yrasmopIeggml [Option ID = 1213]
2. yeaemewil [Option ID = 1214]

3. Sugpiwigri [Option ID = 1215]

4. dferemerfucdt [Option ID = 1216]

Correct Answer :-

® yrIgopIeysl [Option ID = 1213]

3) spyferl¥ad srefeas ufdear, srenferlRad usayssire] IaRId -

"orecrefaRn uf¥cd SugmguRisrREaft gaiidifer senziomen Rigia: aRIReRIAe a Afecse greciel~a AdrafadrRil fsRa der afer gdged
saAforS g forfdverfor sergufdT SHfereeny - YRIgIoAa sfrenviefer AR A3 Adar yricoler” sfer ouriol wad, Jwper yewrl gdgrploll
SISIIUTl MacaAdforzR: denfd Aoqavt: Aifer aIgIuivT [CIoales 3y efgil wnfor o1y gl sfer 31 Fuse gdgrpIali sIgquuil fSfd, seafes], 3wy,
s33il, oIy, g AR Farely Refeso1 s84a o Aifel ugH f&: urorq Aifor G s181qfoT Anfor sfeafdl ATRIR sRId YfeR-Alel sIgIqIuIl AlSToll
DRI el Ud I Geds RN GITPIoRId olgIIivl JrenvilicIeed AgfcRIencd Yogep: 3196 fdaria Acaft sigiqron dfed sfsamgmt
STUTGI eRUUErd el 31 aeRI: Hoc) olPIvaft slgiquli Rerferstor o1 9recet genel elld yRrg: Fofwrorl: diuforafe SHedyciisaraenmear

TEISodce: Aoldol:" SR acAgeUIURIA Tacd T A6l fOIEIRI SfceIPRUIBIURIGH a2l AW 9RRTenfer sfogandifor sreerfeiorfer sigraufor
af¥spdiarfer

313310 3118 sIgIeIvll picy Ferroly Rerferstor sifi¥a ?[Question ID = 305][Question Description = S2_qSNz_PG_SNT_Q98]
1. 4 [Option ID = 1217]
2. 6 [Option ID = 1218]
3. 8 [Option ID = 1219]
4. 12 [Option ID = 1220]

Correct Answer :-
e 4 [Option ID = 1217]

4) spyfeilRad siopesds ufsear, senfelRad wayssite] JaRud -

"orecrefaRr uf¥cd SumguRisrREitl yaiidifr seimren Rigia: IR a Afecoena s~ Admrafadril ISR aen Afer gdyed
siEIforcorge:R forfdwerfor sigrqufdT sfereoms - yRigeda spemvrasnfor afer A3 Adrar Yricololr” sfer ool wad Jepa Yewpral gdpion
SIeIquuTi stacefforarR:  denfd sroqavt: afor sterquidT oasaliel arey sygit anfor orely f3gf sfer a1 Tuse gdyepron stgrquun fd, seafksl, sy,
3dll, oIy, gl ARG Ferroly Refersr sda a wnfer uge f: urerq aifor R s1e1aqufor =for sreafie) AIey sd gfer-ansl sIgiquuni Alsiell
DM el Td T Deds RANTARIThIodd S1gIqIvT sanviicIper dqirIencd yogm: 318 Rraria JFcaft sigrquon dfed sfeeramgmt
SIUTGI DPUUEN il 3] GGI: Foc) olorsdit oIgIuull RefesoI oeT 9recad geirdl el YRIg: ARIIRR dluforafs Sedacllisaragnzar
QHISYTCeS: Aollddel:" SRIGAdcATVIULRIA UAGd I Aol fo1eRI P RUIBIURTGT YUl Ao IRl sfogardifer sreerfdorfer s1greior
ufordtanfer



SuRTa Rl sigiqucd disfircrgaa?[Question ID = 306][Question Description = S2_qSNz_PG_SNT_Q99]
1. sfogem [Option ID = 1221]

2. woq: [Option ID = 1222]

3. gt [Option ID = 1223]

4. weiet: [Option ID = 1224]

Correct Answer :-
e sfogeer [Option ID = 1221]

5) seyferlRad srepeads ufdear, srenferRad usTggsire] 3aRId -

"orecref¥ ufecss SUMAIURIsRIA YHIUIRIT IdiTmrel Rigia: mRIRRISE a AfocotRI eIl Apafdmril fasiRa  aor Afe gdgm
sraforserge: ferfdeerfor srerqufdT Siferoon - yRigreda sf@maenior afer A3 Atar yrigeler’ sfer ariel vad Iwp=1 el ydywbleli
SISIqIUTl sacaeifoiRrL:  denfd Foqavt: wfor orerqufdT fSroafs) srcay syglt wnfor o1oYy fSgg sfer arq Tuse gdgepreti sigiquuni 3fd, seaf¥ey, s,
agll, o1y, f3gl AR Ferely Refersel s3a a wfor us fy: urerq =for R s1grgidr nfor sroaf¥e) ARy sRId YferR-ersi sIgquli AsToll
DUMRAfT el vd T deds R IRIThIodd 18T spanviicIperqg dqiriencd ycgm: 313 Raria Jcaft sigrquon dfe?d sfoeramgt
STUTGIT DIUUEI el 31 dGI: Hoc) oleIvafll SIgIIull ReIferstoI ool 9reca geel il gRig: ATRIRR dluforfe SHedycilisaraonr
THISYTcer: Holldel:" SRIGIAcATVIULIRIA UAGd o ol foIeRI P RUIBIURTGT YUl IS IRl sfogardifer sreetfaorfer s1gIeIior
uferdtanfer

sracergervr e 3ustizia ?[Question ID = 307][Question Description = S2_qSNz_PG_SNT_Q100]

. Fop=rersiee [Option ID = 1225]
getorizar [Option ID = 1226]
sreserte [Option ID = 1227]
sragriee [Option ID = 1228]

AWN—\

Correct Answer :-
o ooy [Option ID = 1225]

Topic:- GP_24NOV_SH2_A

1) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees|

Departments_l_otal Numberz\at]o Total Number Rat1:
IT 250 1 |11 240 2 |1
IAccounts 123 2 |11 130 3 2
HR 90 3 2 30 2 |1
Marketing 350 5 (2 343 5 (2
Production [304 5 |3 |351 5 |4

AIfeTIapT BT 31¢RIeT B3 31 3AD ofld 3T 318 gesll & 3az ¢ &
oifax &1 or¢ enferopt 3 bl vicToo1 @ fafdioot fpimell I ager wefari¥l &I v aan ysy ik aifden srourda &= sri 3

Brafa oot pifiar snenfya wafarst
[fererroT . reUred . SroIare
(BT AT et mq&m 2RSAT obudl‘%ﬂ]
s & 250 | 1| 1] 240 [2] 1
eraar 123 [ 2 [ 1] 130 [3]2
ora dizmes | 90 | 3 | 2| 30 |2 1
IRraoror 350 | 5| 2| 343 |5/ 2
fprureat 304 |5|3] 351 [5] 4

Find out the average number of regular female employees in the organization.

o100l A forifdra aifdcn wafanf¥=il &bt sitera JAze= sid @3 ¢

[Question ID = 1211][Question Description = S2_qSNz_PG_GP16_Q01]
83.20/83.20 [Option ID = 4841]
81.25/81.25 [Option ID = 4842]
78.50/78.50 [Option ID = 4843]
79.40/79.40 [Option ID = 4844]

A w N =



Correct Answer :-
e 383.20/83.20 [Option ID = 4841]

2) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees|

DepartmentsTotal Numbe :\atlo Total Number Rat1:
IT 250 1 |1 |240 2 1
lAccounts 123 2 11 130 3 2
HR 90 3 2 30 2 |1
Marketing (350 5 |2 343 5 |2
Production (304 5 |3 |351 5 |4

AIfeTapT T 31eRIoT @3 3R 3AD ofld 3 318 gesll b 3az ¢ &
oii<l €I o1$ earferepr 3 bl Foro01 @ fdf¥ioot fammell 3 aper watenivl oI iz aen gy siiz Afdenr srefurd f¢ar sk &

Rrif3 wstart  pifdrer amenfya aofarst
[fers T . SreUred . SroIared
@mgﬁﬂﬂﬁm#lm Uy #Hf3en
o & 250 [ 1 [ 1] 240 [2] 1
craar 123 [ 21| 130 [3]2
oo wizert| 90 | 3 [ 2| 30 [ 2]
IRrorror 350 [ 52| 343 [5] 2
[geuTeat 304 [5][3] 351 [5] 4

Find out the difference between regular male employees and contractual male employees in the organization.

Jorol 3 forifda gy wefani=Il 3iiR 2ifder snenfea ysy et ol e oI 3iar s @3 ©

[Question ID = 1212][Question Description = S2_qSNz_PG_GP16_Q02]
1. 2/2 [Option ID = 4845]
2. 3/3 [Option ID = 4846]
3. 4/4 [Option ID = 4847]
4. 5/5 [Option ID = 4848]

Correct Answer :-
e 2/2 [Option ID = 4845]

3) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal Number:\at]o Total Number Rat1:
IT 250 1 |1 |240 2 1
lAccounts 123 2 |11 130 3 2
HR 90 3 |2 (30 2 1
Marketing (350 5 2 (343 5 |2
Production (304 5 [3 351 5 |4

AIfeTapT BT 31RIel B2 3R 3AD ofld G a0 gesll D 3az ¢ &
oifax &t ar¢ enferapt A fpfl Jisto01 @ fafiiost il 3 ager walaniyl &I e den ysy ik afden siourd &= srm 3

foraxfara aafarst Rifder smenfya watars

[ferstoT ot 5 S . SroIUTd
= gy #igenm ~ gy @fden
o & 250 | 1| 1| 240 |2 1




clar 123 2 |1 130 3| 2
FHIoTd JATEIGT 90 3 |2 30 2|1
ferauret 350 5| 2 343 5| 2
ScurGol 304 5|3 351 5| 4

What is the respective ratio of the total number of female employees in the marketing department to the total number of
female employees in the production department?

feraurer fesirer 3 HAfder wafenie=l bl met AT de Icurcel faeT 3 Afden wafaniIl dbI agel AR D ik a1 uId 3 ?

[Question ID = 1213][Question Description = S2_qSNz_PG_GP16_Q03]
. 12/13/12/13 [Option ID = 4849]
11/13/11/13 [Option ID = 4850]
12/17/12/17 [Option ID = 4851]
11/15/11/15 [Option ID = 4852]

A w N =

Correct Answer :-
e 12/13/12/13 [Option ID = 4849]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal Number;\at]o Total Number Rat1:
IT 250 1 |1 240 2 1
lAccounts 123 2 |11 130 3 2
HR 90 3 |2 (30 2 1
Marketing (350 5 |2 343 5 2
Production (304 5 [3 351 5 |4

AIfIDT BT 3EIRIT D3 32 IAD oflY U 318 Yool B IR S &
oii<l <1 o1$ cnfereor 3 b=l Fero01 @ fdf¥ioot eIl 3 ager watanfeIl oI Fizen aem gy SR HAfden sefurd &= sk &

Rrifd wofardt  piRer anenfya wakarst
[T el AT e el AT e

= gy [dfden >y e
o€ & 250 [ 1 [ 1] 240 [2] 1
craar 123 [ 2 [ 1] 130 [3]2
oo dizmeet | 90 [ 3 2| 30 [2] 1
IRavror 350 [ 5|2 343 [5]2
fgeureat 304 [5[3] 351 [5] 4

Find out the difference between the number of contractual male employees and the number of contractual female
employees in the organization.

Jis1o01 3 Jfeer senfya gy wefaniyl &I A de sifder smenf¥a Afden watanf¥=il o1 e & dka siar siia @3 :

[Question ID = 1214][Question Description = S2_qSNz_PG_GP16_Q04]
298/298 [Option ID = 4853]
295/295 [Option ID = 4854]
302/302 [Option ID = 4855]
307/307 [Option ID = 4856]

AN wN -

Correct Answer :-
® 298/298 [Option ID = 4853]

5) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees|

Departments Ratio Ratio
Total Numb Total Numb
ota umerMF otal Number M F




IT 250 1 |1 240 2 |1
lAccounts 123 2 |11 130 3 2
HR 90 3 |2 30 2 1
Marketing 350 5 (2 343 5 (2
Production [304 5 |3 |351 5 |4

ArfeTepT BT 31¢RIeT @2 31 3AD ofld 3T 318 gesll & 3az ¢ &
ofi &t o1 fert 3 Rl Fiero01 B fAfficot fnmell d ot wafaif¥=il Bt Jizoan aen gy 3iiz afden sopura S srm 3

Braf oot pifior smenfya et
[fererroT . eI . SroIare
i eea e I Uy @fden
s & 250 | 1| 1] 240 [2] 1
eraar 123 [ 2 [ 1] 130 [3]2
ora dizmes | 90 | 3 | 2| 30 |2 1
IRraoror 350 | 5| 2| 343 |5/ 2
fprareat 304 |5|3] 351 [5] 4

Which department has the highest number of female employees?

fooar fasimer & aifdcn wafnfyn b Faiftres dwcn 3 ?

[Question ID = 1215][Question Description = S2_qSNz_PG_GP16_Q05]
1. IT/am & [Option ID = 4857]

2. Production/3curcot [Option ID = 4858]

3. Accounts/erar [Option ID = 4859]

4. Marketing/fduurer [Option ID = 4860]

Correct Answer :-
e |T/am$ & [Option ID = 4857]

Topic:- GP_24NOV_SH2_B

1) Which of the following is the highest level of teaching?

forgoifeiRaa & A dlar a1 ITaaa Fa2 o1 fdrgror & ?

[Question ID = 1216][Question Description = S2_qSNz_PG_GP16_Q06]
1. Memory/zgfer [Option ID = 4861]

2. Understanding/dle [Option ID = 4862]

3. Reflective/faaoff [Option ID = 4863]

4. Thinking/Riqet [Option ID = 4864]

Correct Answer :-
® Memory/¥fer [Option ID = 4861]

2) Which of the following are the characteristics of an adolescent?
A. Increasing independence from adult control

B. Rapid physiological changes

C. Emotionally matured

D. Acts rationally

E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

fporRi &bl forgorferRad 3 3 diar M fadruam 3 ?

A. wrrot B Briqur 3 aodt Fadqarn

B. g sreifasufors uf¥ader

C. sy WU A ufeuaq

D. aifffe efdcmior A fagam @wzon

E. 1ot A3el @ e SRRl ur sif2res e1mer Sotr



ofld feu s1u faacul d A A8 3az @I aRIsT BIfSIe &
[Question ID = 1217][Question Description = S2_qSNz_PG_GP16_Q07]

1. Aand B only/d>act A siiz B [Option ID = 4865]

2. A, B and C only/dact A, B 3iiz C [Option ID = 4866]
3. A, Band D only/@act A, B siiz D [Option ID = 4867]
4. A, B and E only/adqct A, B 3iiz E [Option ID = 4868]

Correct Answer :-
e A and B only/daer A 3iiz B [Option ID = 4865]

3) Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

forgarfeiRaa 3 A1 Pl A Mf2ErA & JASRA PIrcdt dRD 3 ?
A. @il ofifa

B. siférgzom

C. sifdrgmarar

D. sfdrsfr

E. siifere gfeme

il fou s1u frapeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 1218][Question Description = S2_qSNz_PG_GP16_Q08]

A, B and C only/@aet A, B aiiz C [Option ID = 4869]
B, C and D only/adaet B, C siiz D [Option ID = 4870]
C, D and E only/asaer C, D iz E [Option ID = 4871]
A, B and E only/dact A, B 3iiz E [Option ID = 4872]

A WN -

Correct Answer :-
e A, Band C only/aae A, B siiz C [Option ID = 4869]

4) Match List | with List Il

List | List Il

Institutions Offering Courses Through SWAYAM |Level of Education

IA. NCERT I. Post school education

B. IGNOU Il. Undergraduate education
C. CEC Ill. Postgraduate education
D. UGC IV. School Education

Choose the correct answer from the options given below:

Lt -l oot 3 -1l A Fgafera HifSie :

Rpet -1 et -l

(FaRi & MERAF A UIGRIDA Faferd 2ol arcil e ) |(forgrr o1 FaR)

A. gor Al € 3 & |. et - IuRIed 918
B. so5], Il. sraz Ferrawm forgm
C. 3t $M lll. FemaerR fbign
D. it 2t IV. et frg

oiil fgu are famedl 3 A A8 IR ot :
[Question ID = 1219][Question Description = S2_qSNz_PG_GP16_Q09]

<1V, B-1,C- I, D - Il [Option ID = 4873]
<1V, B -1l C -1, D - Il [Option ID = 4874]
<1V, B-1,C-1I, D - Ill [Option ID = 4875]
<1V, B-1I, C-1ll, D - | [Option ID = 4876]

> > > >

1.
2.
3.
4.
Correct Answer :-

e A-1V,B-1,C-1ll,D-Il[Option ID = 4873]



5) In a learner-centric approach, a teacher should:

siftEracat - dfa sumeta 3 311w o -

[Question ID = 1220][Question Description = S2_qSNz_PG_GP16_Q10]

clarify concepts by citing examples/3e12u1 Yage w3 3aenunaii Bl Juse dban aifee [Option ID = 4877]

facilitate student learning/srq @ siféeRT @t 3ol dotlonn aifde [Option ID = 4878]

explain concepts by using adequate support materials/u=ifd JBRID A DI IWIGT BID ARV DI IR Bwit aifde [Option ID = 4879]
demonstrate inside the classroom/gn @ sicz ygolel w2 fxarmen aifde [Option ID = 4880]

A WN -

Correct Answer :-
e clarify concepts by citing examples/3c1au1 gzgd w3d> Iaemunsil ol Iuse ool aifde [Option ID = 4877]

6) Independent verification of a research effort is known as

foptt ofter YRIRT o1 Fadq AcATU6l aRIT BEeldl & ?

[Question ID = 1221][Question Description = S2_qSNz_PG_GP16_Q11]
Enquiry/geet [Option ID = 4881]

Probe/stia [Option ID = 4882]

Replication/germfer [Option ID = 4883]

Investigation/smedawur [Option ID = 4884]

A W N -

Correct Answer :-
e Enquiry/gcet [Option ID = 4881]

7) Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. Identified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised

E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

forgatferRaa 3i 3 wlet Ml g oNer i frdraars 3 ?

A. st #o-IadkI 3 3

B. aifdiforerifea arl o1 smuor fopen srar 3

C. Yest dArerblayd X 3

D. afe yfercol @1 s w31 3, Al forsaul @I siATofl A1 AIIGAa2u1 b= s JAwar 3
E. #96T Fa? ORI doll Bidol Bl 3

il feu sru fareedl 3 A A8 IR @1 TRIel B :

[Question ID = 1222][Question Description = S2_qSNz_PG_GP16_Q12]

1. A, B and C only/dact A, B siiz C [Option ID = 4885]
2. B, C and D only/dsaa B, C siiz D [Option ID = 4386]
3. C, D andE only/@aet C, D siiz E [Option ID = 4887]
4. A, Cand E only/aaet A, C i E [Option ID = 4888]

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 4885]

8) Given below are two statements
Statement I: Researchers in history are myth makers.
Statement Il: Various movements in social history- new history - have provided new narratives for history researchers.

In light of the above statements, choose the most appropriate answer from the options given below

ofi &1 erer Ru sre 3 :

el - | : sftrerT olerasat e - forafar axa 3

el - |l : wenfses sfesrt - o siter 3 fafoor siicicmell of sfeRT oNterasaisil & fore oIe RRITeT Juctetl BAT T
SURITP DYoll D 3Tl 3, ofll fSu 31w famedl 3 A A8l 3= D1 a6l HiIfSTE ©



[Question ID = 1223][Question Description = S2_qSNz_PG_GP16_Q13]

Both Statement | and Statement Il are correct/wmeret | 3iiR || gloif 3@t & [Option ID = 4889]

Both Statement | and Statement Il are incorrect/aemr | 3iiz |l Glail steta & [Option ID = 4890]

Statement | is correct but Statement Il is incorrect/ et | 3@t 8, fpoq @l |l s & [Option ID = 4891]
Statement | is incorrect but Statement Il is correct/@emwr | ster &, o et |l 3t 8 [Option ID = 4892]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/@memwr | 3iR |1 cloll 218t & [Option ID = 4889]

9) According to Wimmer and Dominick, the sequential steps in content analysis are:
A. Defining the population

B. Selection of appropriate sample

C. Identifying the unit of analysis and construction of categories

D. Code, analyse and draw inferences from the collected data

E. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

R 3z SEford & SRR eI frauvr & fowafeRaa awvil @ 18 ot i & :
A. afte @1 af¥snita ool

B. 3R yfercof @1 arIer @at

C. Rrea3uur &l s 3R ORI bl Faen bl usdrel Bl

D. Jioyfaa sripst @l Geay ®oll, Rea3HuT w2l 3iiR forsat formreron

E. onermatl g oner ussil = ufyascueinsil a1 forarfor aem

ofi o s1u fwseal & A A8 IR BT <RI HIfvTT :

[Question ID = 1224][Question Description = S2_qSNz_PG_GP16_Q14]

1. A, B, C, D, E [Option ID = 4893]
2. B, C, D, E, A [Option ID = 4894]
3. C,D, E, A, B [Option ID = 4895]
4. E, A, B, C, D [Option ID = 4896]

Correct Answer :-
e A, B, C, D, E [Option ID = 4893]

10) Match List | with List Il

List | List Il
Ethical concepts Source

A. Categorical imperatives I. Aristotle
B. Utilitarianism 1l. John Rawl

C. Golden mean

1. Immanuel Kant

D. Theory of justice

IV. John Stuart Mill

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et - | et -1l

(oiferes sraemzumg) ()

A. forzusr smSer l. sReq

B. SuRNfSrdararG Il. Sifer e

C. zavf amea I11. saegarct wic
D. s @1 Rigia IV. sifar F¢aré Brex

offa fou s1e frpeul 3 3 A IR gforw ©
[Question ID = 1225][Question Description = S2_qSNz_PG_GP16_Q15]

A-1,B-1l,C-1ll,D - IV [Option ID = 4897]
A-11,B-1Il,C-1V, D - [Option ID = 4898]
A-1I,B-1V, C-1,D - Il [Option ID = 4899]
A-1V,B-1,C-1l,D - Ill [Option ID = 4900]

A W N -

Correct Answer :-
® A-I,B-1l,C-IlIl,D- IV [Option ID = 4897]

11) In the transactional type of communication, the elements are:



IARIasIfyd AYUT i, ded DA B 3 ?
[Question ID = 1226][Question Description = S2_qSNz_PG_GP16_Q16]

1. Independent/¥adq [Option ID = 4901]

2. Inter-dependent/uxwr foniz [Option ID = 4902]
3. Neutral/aczer [Option ID = 4903]

4. Inactive/fftgz [Option ID = 4904]

Correct Answer :-
e |ndependent/zadq [Option ID = 4901]

12) Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:

forraiferRaa 3 A a=n srenfdga AYuur ot yYenfera war & ?

A. 3iddl @1 uf¥sr

B. sre9u fadaifer

C. sizafr

D. siisiiftre sraferfer

E. iciifodar

il fou o1 frpeul 3 2 & IR BT a6l HIfSIE ¢

[Question ID = 1227][Question Description = S2_qSNz_PG_GP16_Q17]

1. A, B and C only/dacr A, B siiz C [Option ID = 4905]
2. B, C and D only/dqa B, C siiz D [Option ID = 4906]
3. C, D and E only/@ae C, D siiz E [Option ID = 4907]
4. A, D and E only/dae A, D 3iiz E [Option ID = 4908]

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 4905]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Communication must include the transfer and understanding of messages and their meanings.
Reason R: Achieving perfect communication is a technical possibility.

In light of the above statements, choose the correct answer from the options given below

ofid ol Pl fGu srw 3 @ ud Ifdrpes (Assertion A) @ U 3 3R GRI 3D PRI (Reason R) @5 »u 3 :
sifiraserot (A) : =iduor & el stz Jordd areit T sicrzor aiiz der srager ARARI Aon fdw

®rRur (R) : ufrguf JAYuuT @1 €18 Y Bl U ddbolidbl IHTeRIdAr &

IURITP el B 3MIelid 3, ofi fGu famcul 3 2 T IR BT TR DI :

[Question ID = 1228][Question Description = S2_qSNz_PG_GP16_Q18]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) el 3@t 2 3z (R), (A) &t 3d waeen 8 [Option ID = 4909]

2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) clail 3@t & uzsq (R), (A) 6t 38 wmen oidt 8 [Option ID = 4910]
3. Ais true but R is false/(A) 3@t & u3oqg (R) 3@t oiél & [Option ID = 4911]

4. Ais false but R is true/(A) 3t oidt @ weoq (R) &t 8 [Option ID = 4912]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) cleil 3@t 8 iz (R), (A) &t 3 =m=n & [Option ID = 4909]

14) According to Robbins et al, the sequence of communication functions is :
A. Control
B. Motivation

C. Emotional expression



D. Information

Choose the correct answer from the options given below

3ifdo Ud 31631 @ 3IGIRIR AU el T A3l G a1 3 ?

A. forRiqur

B. aiférdzom

C. smarcaA® ifrifcp

D. Siroreprst

il feu aru fareedl 3 A A8 IR D1 TRIel B :

[Question ID = 1229][Question Description = S2_qSNz_PG_GP16_Q19]

1. B, C, D, A [Option ID = 4913]
2. D, A, C, B [Option ID = 4914]
3. C, D, B, A [Option ID = 4915]
4. A, B, C, D [Option ID = 4916]

)

Correct Answer :-
e B, C, D, A [Option ID = 4913]

15) Which of the following are the traits of a competent communicator?
A. Mindfulness

B. Receptive to new information

C. Thinking before acting

D. Should always go by the first impression

E. Be passive to issues around

Choose the correct answer from the options given below:

forgotferRaa 31 3 Blet A ALE AYWUT B cIgvT 3 7

A. IRaar

B. o€ Sieiapdt &1 spgurehicrar

C. @1 Rpan @2l A usdl 3AD aR 3 Aol

D. ge@1 gera ol ol 3 b2 3191 dGoll

E. 331 - urI & H#ei D yfer forfagr o

il fou s1u frpeul 3 2 & 3R BT a6l HIfSIE ©

[Question ID = 1230][Question Description = S2_qSNz_PG_GP16_Q20]

. A, B and C only/asaet A, B siiz C [Option ID = 4917]
. B, Cand D only/aqe B, C siiz D [Option ID = 4918]
. C, DandE only/@aet C, D siiz E [Option ID = 4919]
. A, D and E only/daer A, D siiz E [Option ID = 4920]

A WN -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 4917]

16) What comes next in this sequence?

1,2,2,4,8,32,?

oii<l fSu a1u srofaydA ¥ 3Ictl Aear dlol i el ?
1, 2,2,4,8, 32,7
[Question ID = 1231][Question Description = S2_qSNz_PG_GP16_Q21]

1. 84/84 [Option ID = 4921]
2. 64/64 [Option ID = 4922]
3. 128/128 [Option ID = 4923]
4. 256/256 [Option ID = 4924]

Correct Answer :-
e 84/84 [Option ID = 4921]



17) If seven persons can build a house in 30 days, how long will it take three persons to build the same house, provided
that they all work at the same rate?

Afe A1 caftp it AAwIer ot 30 f&or 3 doit JABd 3, ol AfBRIl DI 3A HADIol DI dollol I fbdal fSa1 crviol, dord b a it JareT 52 A Brf
DA S ?

[Question ID = 1232][Question Description = S2_qSNz_PG_GP16_Q22]
1. 100 days/100 f&at [Option ID = 4925]

2. 70 days/70 for [Option ID = 4926]

3. 30 days/30 f&er [Option ID = 4927]

4. 210 days/210 ft [Option ID = 4928]

Correct Answer :-

e 100 days/100 f&et [Option ID = 4925]

18) If the difference between compound interest and simple interest on some principal amount at 20% for 3 years is Rs 64,
then the principal amount is -

Afe o=l ereror ur 20% oI g2 A 3 ad @ e aqgls st ik ATLURYI RATST DI 3R 64 FURI 3, dl a8 Jcielol A D2

[Question ID = 1233][Question Description = S2_qSNz_PG_GP16_Q23]
Rs 495/% 495 [Option ID = 4929]
Rs 550/ 550 [Option ID = 4930]
Rs 375/% 375 [Option ID = 4931]
Rs 500/% 500 [Option ID = 4932]

AW N =

Correct Answer :-
® Rs 495/ 495 [Option ID = 4929]

19) Given below are two statements

Statement I: The angle between the minute hand and the hour hand of a clock when the clock shows 3 hours 20 minutes is
25°

Statement Il: Between 4 and 5, the minute hand and hour hand of a clock will be coincident at 71 2 minutes past 4.
11

In light of the above statements, choose the correct answer from the options given below

ofi<I S werer fGw a1w 8 ¢
@Yol - | : afe ast 3 ssr? 20 RBreic @1 JAIRT SoIidl & dl 3DI €@ DI J3 3R fBroie di J$ D dikr 25° @1 DIvT Jor el &

@l - Il : 4 3R 5 @ da 4 ssr02 glimatmaﬁdﬁd%ﬁgéaﬁ:iﬁmiﬁtgéwmﬂﬁlﬁaﬁ
11

JURITS el B 3MIelld 3, ofll f&u s1u faraseul 3 A JE A= B1 wIal HifStw &
[Question ID = 1234][Question Description = S2_qSNz_PG_GP16_Q24]

1. Both Statement | and Statement Il are true/eret | 3z Il Sloil 31 & [Option ID = 4933]

2. Both Statement | and Statement Il are false/@emer | 3ii2 || Gleil sRicr & [Option ID = 4934]

3. Statement | is true but Statement Il is false/@ermer | 31 & , fboq Pt llsrir & [Option ID = 4935]
4. Statement | is false but Statement Il is true/memt | a1 31 8, fbog el || A= & [Option ID = 4936]

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | aiz |l Gloif A1 & [Option ID = 4933]

20) Which of the following statements are correct?

A. If the cost price of an item is Rs.56 and the gain percentage is 20%, the selling price of the item is Rs.76.2.
B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the selling price of the item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

foraifeiRaa werll R frar Hifsru :

A. afe vt avq @1 a3 e 56 FuA 3 3l 3A R 20% oIt B 3, Al 3A avg DI g Jea 76.2 IuA 3
B. afd fp=ft avq @1 @ Ica 80 U 3 3iiz 3A daal uz 15% sifer aXcdl 3, A 3 avg @1 g e 68 uA 3
C. afe for2fl avg @1 5 A 3 Ticw2 6 FUA & a1 Sl 3 Al 3A R 25% o e 3

SR AA Bl a1/ A et A8 3/ 3?

[Question ID = 1235][Question Description = S2_qSNz_PG_GP16_Q25]



C only/a@aet C [Option ID = 4937]
B only/daet B [Option ID = 4938]
B and C only/dsaet B siiz C [Option ID = 4939]
A and B only/dact A siiz B [Option ID = 4940]

A W N -

Correct Answer :-
e Conly/@aa C [Option ID = 4937]

21) Match List | with List Il

List | List Il

A. Vyapti I. An immediate valid cognition of reality due to some kind of sense-object contact
B. Anumana |ll. A source of knowledge on the basis of the likeness of things

C. Pratyakshallll. Knowledge of an object due to previous knowledge of some signh or mark

D. Upamana |IV. The universal relation between the middle and major term of inference
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 ot -1

A. cenfir |. fp2ft yopR @ sfogaret Afotad & drRUT Aemef o1 arpra da
RISTIol

B.

Il. <fisii &1 JeReuAr & 3MMER U= Si6l BT A
SIoTdTeT

C. geagr  |lll. fepeil 3idda 1 fre @ yd el @ smeR UR fopedl arg @1 itor
D. suairer |IV. siofditel @ 3d Ug 3R AIeA U @ i Asard forman
oiil f¢u are famedl 3 A A8 IR gfore :

[Question ID = 1236][Question Description = S2_qSNz_PG_GP16_Q26]

<1, B -1V, C- 1, D- Il [Option ID = 4941]
<1, B-1II,C-1,D - IV [Option ID = 4942]
<1, B-11,C-1,D- IV [Option ID = 4943]
<1V, B-1ll, C-1, D- Il [Option ID = 4944]

Ealb
> > > >

Correct Answer :-
® A-I,B-1IV,C-Ill,D- Il [Option ID = 4941]

22) Match List | with List Il

List | IList II

A, Sannidhi||. Mutual fitness and compatibility of the constituent words in a sentence
B. Tatparyalll. Expectancy between the words different in a sentences

C. Yogyata [lll. Propinquity between the different words in a sentence

D. Akanksa[lV. Meaning intended by the sentence

Choose the correct answer from the options given below:

el -1 @1 g -1l A Fgaifera Hifste ¢

Rxet -1 Rxeht -1

A. afsorfer ||, araRr 3 Faed 9rec] bl uRIUly® IuYrpdl 3R AHIddr
B. arca=f  [ll. araRr & orscl @ i yezmon

C. a=rar ||l ara=r & fafdreot orscl @ dia AAeficr

D. smepignm IV, araRr g1 ifdrga sref

ofid fRu o1 fweal & A w8 IR g :

[Question ID = 1237][Question Description = S2_qSNz_PG_GP16_Q27]

. A-11,B-1,C-1ll,D - IV [Option ID = 4945]
<1V, B-1I, C-1ll, D - | [Option ID = 4946]
11, B-1,C- 1V, D - Il [Option ID = 4947]
-1ll, B- 1V, C-1,D - Il [Option ID = 4948]

AW
> > >

Correct Answer :-
e A-Il,B-1,C-1ll, D-IV[Option ID = 4945]

23) Name the fallacy committed in the argument.
"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets."

Choose the correct answer from the options given below



oii<l fgu are ads 3 wiol AT dd 3y 8 ?

DI Ifordlol Urciq StrofaR oidl 3

F- (=N

g2AfeIe @B Yfoldlol T3] SIGIaR olél &
[Question ID = 1238][Question Description = S2_qSNz_PG_GP16_Q28]

1. Undistributed Middle/sreama 3q [Option ID = 4949]

2. Affirmative conclusion from Negative Premises/oidRIcod 3ienz ardRii A AbRIcHD foreaptd [Option ID = 4950]
3. Exclusive fallacy/smuasie a@ giu [Option ID = 4951]

4. Existential fallacy/si¥drauzs a@ g [Option ID = 4952]

Correct Answer :-

e Undistributed Middle/smmma &g [Option ID = 4949]

24) Consider 'A’ proposition as 'True' and 'False' respectively, in a square of the opposition of propositions, then which one
of the following is correct?

a® arRll @ faudia oot # 'A’ g araR o1 @aen: FEl SR orad’ Al forerfeiRaa # A ®ler A1 A8 G 3 ?

[Question ID = 1239][Question Description = S2_qSNz_PG_GP16_Q29]
1. '0"is True and 'I' is False/'O" 3t 3 3l 'I' s1rcir @ [Option ID = 4953]

2. 'E'is Undetermined and 'O’ is False/'E’ aiforerif¥a & siiz 'O’ stera @ [Option ID = 4954]
3. '0O'is Undetermined and 'I' is False/'O’ aforerif3a 8 sii I srerr & [Option ID = 4955]

4. 'I'is True and 'E' is False/'l' 31t 8 3l 'E' srerea 8 [Option ID = 4956]

Correct Answer :-

e 'O'is True and 'I' is False/'O’ 3@ 2 3iiz 'I' arera & [Option ID = 4953]

25) In which of the following forms of knowledge there cannot be any predication of the object in terms of the subject-
predicate relation?

forgoticii¥aa 3 A b Il Yrsu @ 3894 - (A€l Ader oI zfte A avq o1 oI 486l o1él 8l Amer 8 ?
[Question ID = 1240][Question Description = S2_qSNz_PG_GP16_Q30]

1. Nirvikalpaka Pratyaksha/fifdfeeus geast [Option ID = 4957]
2. Savikalpaka Pratyaksha/fd@eus® geast [Option ID = 4958]
3. Samanylaksana/meeigor [Option ID = 4959]

4. Yogaja/=erst [Option ID = 4960]

Correct Answer :-
e Nirvikalpaka Pratyaksha/foiffascus geerer [Option ID = 4957]

26) A spreadsheet is

Tsoftc 3 -

[Question ID = 1241][Question Description = S2_qSNz_PG_GP16_Q31]
. One-dimensional table or grid/ve® - fdefier aifert = Bfs [Option ID = 4961]

. Two-dimensional table or grid/fg - fasftr aiférest @ B35 [Option ID = 4962]

. Three-dimensional table or grid/f - faflr anferer =n Bfs [Option ID = 4963]

. Four-dimensional table or grid/aqg - faefter aiferast =1 s [Option ID = 4964]

A WN -

Correct Answer :-
® One-dimensional table or grid/v® - faefir aiferar =n Bfs [Option ID = 4961]

27) In electronic banking, ATM stands for

soraciford Jfepst @ der 3 © & waT BT YA ol a1 3 ?

[Question ID = 1242][Question Description = S2_qSNz_PG_GP16_Q32]
1. Automated Transfer Money/sificldRs giRiw2 ol

[Option ID = 4965]
2. Automated Teller Machine/sifciaics ecrz Fofter

[Option ID = 4966]
3. Automatic Transfer Machine/siicliifes ¢eiw2 atoffor

[Option ID = 4967]



4. Automatic Transfer Mode/sifciaifed giRiw: aiis
[Option ID = 4968]

Correct Answer :-
e Automated Transfer Money/3ifcloics gRIBG? oft

[Option ID = 4965]

28) Which of the following is a disadvantage of laptop computers in comparison to desktop computers?

3¥Deia BIRIA B getolt i Auciu warpel & forerferRaa 3 3 dlet 2l v @t 3 7

[Question ID = 1243][Question Description = S2_qSNz_PG_GP16_Q33]
1. It has no trailing wires/smi @I ar forwel ot &1 & [Option ID = 4969]
2. It has lower power consumption /s fasiclt &t xqua @ aidt & [Option ID = 4970]
3. It is lightweight and self-contained/s@r astor @t aler 8 siiR @6 Fa: yui alar & [Option ID = 4971]
4. It is easier to break or steal/s3 disei =11 grion 3Rl 8l 8 [Option ID = 4972]

Correct Answer :-
e |t has no trailing wires/sui @I$ ar formet o8l &1 & [Option ID = 4969]

29) Which of the following statements are correct?

A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when producing a document
C. Laser printers use the property of static electricity

D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

forgatferRaa werell & e u? far Hifsie :

A. R Rl 3 v Rl @l IueT fop=n Sirar 3

B. 3fc aifeat siiz $paie el & fudia der el 3 cTardst dRIR B AIRT FATE BT IWRIET o1l R sirar 3
C. aor et 3 foru Rer fea & fadraar/sor ot yRier diar 3

D. ceR ftjez ary 3 3iisiler 311 3R CloR & IJgHA BUI IcUool BT 3

Sufes 3 A Blot A1 / A Bt TE 3 ?

[Question ID = 1244][Question Description = S2_qSNz_PG_GP16_Q34]

. A, B and D only/daer A, B 3iiz D [Option ID = 4973]
. A, Cand D only/a@aea A, C siiz D [Option ID = 4974]
. B, Cand D only/daer B, C 3iiz D [Option ID = 4975]
. Aand C only/a@aet A siiz C [Option ID = 4976]

A w N =

Correct Answer :-
e A, BandD only/dact A, B 3iiz D [Option ID = 4973]

30) Given below are two statements
Statement I: DRAM consists of a number of transistors and capacitors
Statement Il: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the options given below

il 3 werel fdu sre 3 ¢

@l - | 1 €1 3R © war 3 30 CifSRe: 3R Jenfyq (BulieR) Afafer s &
@erel - |l : 31 3R € Qi ol aeIaR 36 orasor bl smragadar skl 3

SWRITP Pl @ el 3, ofld 3w s1e vl 3 A A8l Iar @I a6t HifSte :
[Question ID = 1245][Question Description = S2_qSNz_PG_GP16_Q35]

Both Statement | and Statement Il are true/eml | 3 |l Gi6il 311 & [Option ID = 4977]

Both Statement | and Statement Il are false/@emwr | 3z |1 Gloil 3Rt & [Option ID = 4978]
Statement | is true but Statement Il is false/erwer | 3 8 , fboq @eret |l srir & [Option ID = 4979]
Statement | is false but Statement Il is true/wepl | sRIc & , fibog et || A= & [Option ID = 4980]

A wWwN -

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | aiiz | Gloif A1 & [Option ID = 4977]



31) According to Niti Ayog's SDG Index (2019-20), which among the following states is the best performer in the attainment
of SDG-5 (Gender Equity)?

Siifer 3MRIPT @ wasSis Jamid (2019 - 20) & ERIR, TAsSs - 5 (it JeImean) gra oot 3 foseifcrRad 3 A b1 I b1 ygola Ad9ss
3?

[Question ID = 1246][Question Description = S2_qSNz_PG_GP16_Q36]
1. Kerala/@zc [Option ID = 4981]

2. Himachal Pradesh/f@aret ygor [Option ID = 4982]

3. Sikkim/Rifdrasar [Option ID = 4983]

4. Goa/smar [Option ID = 4984]

Correct Answer :-
e Kerala/@%e [Option ID = 4981]

32) Protection from Ultraviolet Radiations as envisaged under the Montreal Protocol also contributes to following SDGs

Fifoczrer QIAraia 3 6l 51 uldpeus @ 3IGRIR UsTofl fafep2ur A Jzgr forafeRaa 3 A ot v 31 Sit 3 oft AeceT B & ?

[Question ID = 1247][Question Description = S2_qSNz_PG_GP16_Q37]
SDGS 3, 11, 14, 15/wa st st 3, 11, 14, 15 [Option ID = 4985]

SDGs 10, 16, 17/wa <1 51t 10, 16, 17 [Option ID = 4986]

SDGs 4, 5, 11, 17/sa st st 4, 5, 11, 17 [Option ID = 4987]

SDGs 8, 10, 12/wx <t st 8, 10, 12 [Option ID = 4988]

AN wN -

Correct Answer :-
e SDGS 3, 11, 14, 15/va St st 3, 11, 14, 15 [Option ID = 4985]

33) Among all recorded species in the world, India accounts for about

fora 31 1S &t o1 2efl yanferil 31 A1 sRa 3 cenpET fhdaett ysnfern 37

[Question ID = 1248][Question Description = S2_qSNz_PG_GP16_Q38]
7-8%/7-8% [Option ID = 4989]

10-12%/10-12% [Option ID = 4990]

15-18%/15-18% [Option ID = 4991]

20-25%/20-25% [Option ID = 4992]

A W N -

Correct Answer :-
e 7-8%/7-8% [Option ID = 4989]

34) In respect of Biochemical Oxygen Demand (BOD), the permissible Indian standard for discharge of treated effluents in
Inland Surface Waters is

SIaRRIRIfoI® sifaziistor #ieT (&t s $t) & Zider d, oNfera afd:3yra 1 sfoa:FerciRn AL SicT 3 SISl @ fe1e sl HAeI o= 3 ?

[Question ID = 1249][Question Description = S2_qSNz_PG_GP16_Q39]
1. 5.0 mg/L/5.0 Bep/ <t

[Option ID = 4993]
2. 6.0 mg/L/6.0 GBep/ <ft.

[Option ID = 4994]
3. 15.0 mg/L/15.0 fiep/ cft

[Option ID = 4995]
4. 30.0 mg/L/30.0 fep./ cft.

[Option ID = 4996]
Correct Answer :-
® 5.0 mg/L/5.0 Bmey./ cft.
[Option ID = 4993]

35) Which type of power plants uses the least land per unit of GWh energy production?

P31 gopR @ fgga JRiq yfer sopré sfiemarc der (it socy wa) il 3curcel @ fore AR Pd Yfdr BT IURIPT B 3 ?

[Question ID = 1250][Question Description = S2_qSNz_PG_GP16_Q40]
Wind/udet [Option ID = 4997]

Coal/®rren [Option ID = 4998]

Solar/ziiz [Option ID = 4999]

Geothermal/sardizr [Option ID = 5000]

A W N -



Correct Answer :-
e Wind/uagat [Option ID = 4997]

36) Which of the following are the major recommendations of the NEP-2020 related to higher education?
A. To increase GER from 26.3% to 50% by 2035

B. Establishment of world-class universities

C. 'Light but tight' regulation by a single regulator for higher education

D. Promoting research in science and technology

E. Opening of 1500 more universities

Choose the correct answer from the options given below:

wol § Ul - 2020 3 I 118 o Ader 3 forgaifciRaa 3 A ®iol 2 yga Riwifedl & ?
A. Sfig3me @1 26.3% 3 agrw2 2035 as 50% wmoen

B. fora - yadin ferafdencril &1 Femaein

C. 3 9181 @ e uope faforIEId gRI 'scdl fdbg IR (cirse |c crsc)’ faforior
D. fasimet siiz gienf3rht 3 oiter I agrar Solt

E. 1500 3iz frafdencrr wicon

il fou s1u Rrapeul 3 A & 3R BT a6l HIfSIE ¢

[Question ID = 1251][Question Description = S2_qSNz_PG_GP16_Q41]

A and B only/dbaet A siiz B [Option ID = 5001]
A and C only/d@aet A siiz C [Option ID = 5002]
B and D only/@aet B siiz D [Option ID = 5003]
D and E only/dqet D siiz E [Option ID = 5004]

A WN =

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 5001]

37) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the need for flexibility in the education system so that
students, depending upon their interests and aims, can choose interdisciplinary, intra-disciplinary and skill-based courses.

Reason R: The majority of Indian higher education institutions have been following a marks or percentage-based evaluation
system, which obstructs the flexibility for the students to study the subjects/courses of their choice and their mobility to
different institutions.

In light of the above statements, choose the most appropriate answer from the options given below

oiid ol Pl fGu 3w & @ U st (Assertion A) @ ¥u 3 3R GRI 3D PRI (Reason R) @5 »u 3 :

aifdrperet (A) : forem yurrett 3 crciiciuct &b F1ieT ol &aret 3 2 gu fameu - smenf¥a @ fSeyprredt (i &t 2t var) @I sraern & aifds 819 sttt
ISR 3R 389Ul B 3IGRAR 3R - fARID, A:fIRID 3i? DI9reT et UIGIRIHI DI TRIol B AD

@Rl (R) :9ra 3 sifrapior 3ca {91811 AT 3D AT YT 3ent¥ed JcRIid>el Yulicil Pl 3elUIciol 2 Bl & ; PSRRI BIq) DI 3usil uRic & el
/ dAzersii & dia Iordl srferofieran # erficiuct 3 aren 3t 3

IURITH Dol B 3l 3, ofil fGu faapeual 3 2 7t IR BT R DI :
[Question ID = 1252][Question Description = S2_qSNz_PG_GP16_Q42]

. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) Sleil 31t 2 iz (R), (A) &t 31dt wmeen 3 [Option ID = 5005]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) clail 3@l 8 woq (R), (A) 6t 3@ =mn oidt 8 [Option ID = 5006]
. Aiis correct but R is not correct/(A) 3 8 wesg (R) 3dt iét & [Option ID = 5007]

. Aiis not correct but R is correct/(A) 3t odt & weeq (R) 3@t & [Option ID = 5008]

A w N =

Correct Answer :-

e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) gleil 2@t &3z (R), (A) &6l 3@ men & [Option ID = 5005]
38) Nalanda was established in

siIcicl < Fermuelr od g3 ot ?

[Question ID = 1253][Question Description = S2_qSNz_PG_GP16_Q43]



2nd century/ gt errsdt [Option ID = 5009]
3rd century/dist ot [Option ID = 5010]
4th century/<teflt errsd [Option ID = 5011]

5th century/uiadt errset [Option ID = 5012]

A wWw N -

Correct Answer :-
e 2" century/gust erarsdt [Option ID = 5009]

39) Arrange the following states in descending order in terms of GER (Gross Enrollment Ratio) in higher education.
A. Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

Ica forgn 3 ol omdAicpel 3topurd (it § 31R) &l zfte A foarfeiRaa =il @ sraRIdt ot 3 3 :
A. afdrcreg

B. @2

C. SmRravs

D. Riferpa

E. Barme ggor

il feu sru faeedl 3 A A8 IR @1 TRIet B :

[Question ID = 1254][Question Description = S2_qSNz_PG_GP16_Q44]

1. A, B, D, E, C [Option ID = 5013]
2. B, A, D, C, E [Option ID = 5014]
3. B, D, E, A, C [Option ID = 5015]
4. D, A, E, C, B [Option ID = 5016]

Correct Answer :-
e A B, D, E, C[Option ID = 5013]

40) 'Deemed to be University is established by

‘Stes feafdencrr’ &bt Fenuetr fbad GrI & sirdl 3 ?

[Question ID = 1255][Question Description = S2_qSNz_PG_GP16_Q45]
1. An act of the Parliament/3izic @ siféiforer g1 [Option ID = 5017]
2. An act of the state legislative assembly/3rser ferer 218 @ siféiformr gt [Option ID = 5018]
3. A notification of the Central Government on advice of the UGC/z i3t & cis ® Dog RPR &I aiftryaen grt [Option ID = 5019]
4. A notification of the UGC on the advice of the State Government/3s1 3R®R &t ctie W St 6t siftrpaen grr [Option ID = 5020]

Correct Answer :-
® An act of the Parliament/3idic @ sifeiformat grt [Option ID = 5017]

Topic:- GP_24NOV_SH2_C

1) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at



weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

fogatferRae srerior @l earegd® ug 31z Yesil & IR &

SIIAIcHD A DI ALMRVI AT &I D ASPIRI D eIl A IR & [Pod HAKHAD 9 PBRI YRID ASPIR D 018 gRIPID & 3MUdT Yderm
34 A DA A DA A UL I 3 b 314 3rual AepRRI D 12 fOre RIasr @3 3R fRIgUyYf *Iasr o @3 A<l golldl aq 3cucd 3idl 3 s
watanf¥il ot fop2il sirdont B Ygffa wolr usar 3 Siafs & BIE gasl el AL B2 23 3 3 A6 IR sidolcard foRisifer waard 3 siiz a6
FareAa & fore sIfoldR® 8l Amdl 3 @ot, DIer 3T AT Bl T TGl A AT HIACIHD ATl Bkl 3 32 AR HdolcdDd HU A ¢T SIIAl 3
IAoIIcIHD faRisIfel FsTIolcards fisifer & et 3, RrarT s3d b sidacicares faeisifer Rider @ ae=IRI siraenail A JHdfera il 3 gondt orf
forsurcer @ U Yy Hed D HU I HIG6IHD 9JF 3 HITeIIsil Bl YRIfSIasdr o) 31l SIIdl 3 sIidelicdd 9P wefanf¥il & feru gfdren Scuset
DA 3 MBI VA AP D AT DI D6 USdl & o168 MU [IeTazel URIG ofdl Bl 8 3l ADI 3, MU Iold Afebed DI Uadl Aol 8l 3l
Aol 2 o5 3mu s Sirerd &1 5 Sosiel U Wio Wid smuds a3 SIPRICHD daId Bél 3 sAD dIa9IS, U6l ASPIR Bl JRR MUD! Sol cllbll &
1 forafdrd smeR uR sia:fpRn @t usdt & safere U ddisima o1 fearar o usar & fadiumz, Al U HIacI3il I I3 HIdGII3il AT
Yool sraocIrail 3 3IcIoT-31e1oT 2 AD dl IR IMMUD! UG ASPIR 3 ASRIAT fIret Trapedl 3 3rel3d HIdGIY wIftp &t arafde sraens Bidt &
sad [udida, ygfdla sirgomd a 3iddl 3 Riod I 2iorool fepdl BRI 9y @ fore watenf¥=il gRI ycldfa fepu sirel &I sragm 3adr 3 3z 368 3fIa
Hiolcl 3 d siafolfaa siraen ol 3icfl 3 ; a Mixdl o1 siraenE Bicll 3 321l yoR a4 3 A S1frpior ller Sireld 3 b 331 bl cafep @ siferar
IAFPR # g:H Yaldia @l Bl srign bl il 3, st 8l ad 3 AlRP DI P DI b Ifel Aol AT of Alol AAT AEI-IARIE I Yool fGxdol bl
U DI SIIedl 3, 91c1 &1 & YIooldl A D2 AT of DI 9N A 9l 3 [ PRI Ferell Uz A8 U Bl SiIedl & b & ATATeRIA: YRIooldr 3iiR
ICATE SN ADRICHD HIdl Dl Ygfdfa mon aifdu qem sr1, dler, it 31 adHIel SiA oIbRICHD HIdl DI Sfdid bl aIfde

The basic principle of emotional labour management is:

HIdolIcdD 9P Ysierol @l gforn<l Rigia 3 ¢

[Question ID = 1256][Question Description = S2_qSNz_PG_GP16_Q46]

1. Be less hostile to other employees/sio1 dwsfanf=ii @ yfer wa fagw 2o [Option ID = 5021]

2. Entertain only limited interaction within the organization/zisIcer @ itz dact ffér sic:fapem aw2em [Option ID = 5022]
3. Be polite to co-workers/s®fdRl @ yfer fdorey 2sem [Option ID = 5023]

4. Do not show your frustrations/smoft @or1sii @I ygfdfa of w2e [Option ID = 5024]

Correct Answer :-
® Be less hostile to other employees/sieer wafanf¥it @ yfer wat figw sxaen [Option ID = 5021]

2) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

fogotfeiRae srerior @l earegd® ug 31z Yesil & IR &

SIIAICAD A DI ALMRVI AT &I D ASPIRI D 3MERIol A IR & [Pod HIAKHAD 9JFH PBRI YRID ASPIR D 018 JRIPID & 3MUdT Yderm
3IIU A D A DI A UL I 3 b 314 31ual AepRRI D 12 Ore RIasr @3 3R fRIgUyYf *Iasr o @3 A<l golldl aq cucd 3idl 3 s
wafanf¥il ot fp2il siraon B Ygfifa ool usar 3 Siafs & I gasl el AW B2 23 3 3 A6 eI siaoicar faeisifer waard 3 siiz a6
FareAa & fore sIfoldR® 8l Amdl 3 @ot, DIer 3 A Bl T HIdoIT A AT HIACIHD ATl Bkl 3 32 RARP HdolcdDd HU A ¢TSIl 3
IAoIIcIHD faRisIfer JsTIolcards fisIfer & eie 3, RrarT s3d b siacicares faeisifer Rider @ asIRI siraenail A Hdfera il 3 gondt orf
forsurcer @ U Y Hed D HU I HIG6IHD 9JF 3 HITeIIsil Bl YRIfSIasdr oI 31l Il & sIIdelicdd 9P wafanf¥il & feru gfren Scuset
DIAI S MUDI TA clivll B AT PIA Dl USdl 3 135168 MU derapel Ui offl @ & 8l ADI 3, 31U Iold RAfebed DI UeHl Aloldd 8l 3l
Aol 2 {5 3mu s Sirerd 31 o5 3osiel U Wio Wid smuds ar 3 SIPRICHD aId Bl 3 sAD dIa9[S, Ul ASPIR Bl JRR MUD! Fol clldll @
AT foraf3re smenR UR 3ier:fapRm ol usdl 8 safere smud! i o1 fGarar ol usdr 3 fadum:, AlS ra HIdolIsll Wl 3rol3id HTdeII3il AT



yofofe sraeIrsii 3 3IcToT-31e1oT @2 AWM dl IR IMMUDI UGl ASPIR I ASRIAT fIeT Tl 3 eIy HIGIS wIfth &f arafd® e 3Kdt 3
saad faudia, yghdia smraoend a 3icdt 3 Rred oI Horo0 fpfl @R fady & fere wafanf¥il grI ygfdia fpu siror &t sridgm adar 3 siik 30 3k
Il & d 3iafoifda sraoie o1&l 8l & ; d il o1 siraole Bl 3 Al YR &3 3 A IUDIN lIvT Siloid 3 b sIRI =il caftp o siferer
dAropR 3# g:E yghdfa wzar &t srden &t sl 3, 91ch &t aa1 3 afRp Bl Fog DY U SIfeT ATl AT of Aol AT Y- FARIE A YAool ot bt
g &t Sl 3, 91t 8 &I YAooldl ASIYI B3 AT of B 9Nel A oIl 3 b BRI Fercdl uR A6 3rien 6l sirdl 3 95 531 APMIGAA: Yoorar iz
ICATE SIA APRICHD HIAl DI Ygidia ol anfdu qerr srI, dlel, Siiel 3R I9IIel SIA SIPRICHD HIdl DI SRId Dol aIfdy

Within an organization, emotional dissonance affects
fopft Fie1oet 9 eI fdsIfer fopAr yanfaa ot 3 ?

[Question ID = 1257][Question Description = S2_qSNz_PG_GP16_Q47]
1. Cognitive consonance/3isireli® sgRsuar [Option ID = 5025]

2. Effective job performance/ygirdt @rf forurger [Option ID = 5026]

3. Solutions to labour issues/gpt #&i @1 Jernet [Option ID = 5027]

4. Constructive thinking/>doircares fRicor [Option ID = 5028]

Correct Answer :-
e Cognitive consonance/=ismeicd 3igReudr [Option ID = 5025]

3) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

forgotferfia srerior @ earoigda ug 3iiz goell & a2 &

HIAICHD 9 B AEMRUI AdT &I D ASPIRI D HERIGT A I & fboq HIarcHD 9P TPBPI YD ASPIR @ e yrifdie 3 smue! yders
MU A BH A DA AT UL WA 3 5 34 3ruel AspRR B 2rer fAre RIasr &3 3R Uyt cIasr of &3 el golldl ag cucd 3Xdl 3 s
wafanf¥il ot fp2dl sirdon @1 ygfdfa won usdr 3 Siafs 3 oI sl 1ol AP B2 W 3l 3 A6 FRARIPINT siaeicar faRisifer waard 3 siiz a6
Tared @ feru siforpR® 3 Al & Bol, @ 3= AW B T HIGEI A 3HAd: HIGIHD ABIel Bl 3 32 AR HCAGIHD HU A ¢ Sl 3
SIGIICID fARIBI ASTGIcHAD [RisIieT & TG 3, RIARI 331D {6 Maeicd® RisIfe Ridal @ SSIRT siTdoIn3il A A€ il 3 gairdl ort
forcurcel @ U Y g @ U A HIAGIcHD 9JF 3 HIoII3il bl YRIFSIDdr Bl S Sl & HIdeIkAD 9JH DRIl @ fere gfren 3cucot
DA 3 3MUDI VA clISI O AT DA D6 USdI & 3168 MU fderayet URis ofdl @l 8 3l ADI 3, MU Iold RAfebed DI uadl Aol 8l 3l
A 3 o5 311U s Sirola 3t {5 3oslol smud dio WD ad> aR 3 oIPRICHD dId Bl 3 $AD IS, Ul ASPIR DI FIR MUDY Fof vl B
12 forafdrd smeR uR 3i:fpR ofl usdl 3 safere smuwm! ddisira o1 fCarar ol usar & fadume, Afe U HIaGII3il DI 3ToL3i HITGII3il AT
Yool sraeIrsii 3 3IcToT-31eToT @2 AD dl IR IMUDI UGl ASPIR 3 ASRIAT fIreT Frpedl 3 eIy HIGIE wIftp &I arafde e 3idl 3
s fudia, yeffa snaomd d aidfl 3 Ried BIE istoal b=t orf fad & fere wafarf¥=il gr1 yefdfa fpu sirer &t sregn @ 3 siiz 368 3fa
JATGIr & d 3idfolfda sraeie o1él el & ; d Ml o1 siraome Bicll & 3=Al YR & 3 A 3Iferpior clisT Siiold & b 3IRI fpdl caftp @ siferer
dArpR A g3 yghdfa wzor &t side &t sl 3, 91 &t aa1 3 AR Bl Fog DY U SIfeT ATl AT of Aol AT Y- FARIE 3 Yool ot bt
e bt SIredl 3, 91ct & 3 YRIooldl YA b3 AT of DI 9N A GIfd 3 b BRI Ferell R A6 e 6 sl 3 b g9 ABIIGRA: gieordrn 3R
AT S APRICHD HIAl DI Ygidia doll anfdu qerr srI, dlel, 8iiel 3R IaeTel SIA SIPRICHD HIdl DI SRId Dol aIfdy

In a workplace environment, labour managers should give preference to:

DRI FeIel & araraRvI 3 9FT Yderdl @i foaferlRad 3 A fpr grefdrman Soft anfdu ?

[Question ID = 1258][Question Description = S2_qSNz_PG_GP16_Q48]
1. Displayed emotions/ygfefa smaomsii @t [Option ID = 5029]

2. Felt emotions/ s srdetiaii @t [Option ID = 5030]

3. Negative emotions/sipRIca® sirdenail @1 [Option ID = 5031]

4. Expressions of frustrations/wmorsii i sifdreafes @t [Option ID = 5032]

Correct Answer :-



® Displayed emotions/ygfsfa sigetsii @1 [Option ID = 5029]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal NumberRat]o Total Number Ratio

M F F
IT 250 1 |1 240 2 |1
IAccounts 123 2 (1 (130 3 2
HR 90 3 2 30 2 |1
Marketing 350 5 (2 343 5 (2
Production (304 5 [3 351 5 |4

forgotferfiac srerior @ earoigda ug 3iiz goell & a2 &

HIAICHD 9 DI AEMRUI AdT &I D ASPIRI D HERIGT A I & fboq HIarcHD 9P TPBPI YD ASPIR @ e yrifdie 3 smuer yders
MU A BH A DA AT UL WA 3 5 314 31ael AepRRI B 2mer fIrse RIasrR &3 3R fIguyyf *Iasr of &3 el gollddl ag cusd 3Xdl 3 s
wafanf¥il o Rp2il siraon @ ygfdfa won usar 3 Safs & oI sl 1ol AP B2 W 3l 3 A6 FRARIPIRT siaoicar faRisifer waard 3 siiz a6
Tared @ feru sIforR® 3 Al & Bol, @ 3= AW Bl THA HIGEI A IHAd: HIGGIHD ABIel Bl 3 32 AR HCAGIHD HU A ¢ Sl 3
SIIGIICID fARIBI ASATCIcHAD [RisIieT & TG 3, RIARI 331D 16 Maeid® fRisIfe Ridel @ SSIRI siTaoIn3il A A il 3 Yol ort
forcurcel @ U Y g D HU A HIAGIcHD 9JJT 3 HIoII3il bl YRIFSIDdr Pl A Sl & HIdeIcAD 9JH DRIl @ fere gfren Icucot
DA 3 MUDI VA cAIBI D AT DA DI Usdl & 35168 MU fderayet Ui ofdl 8 3l ADI 3, MU Iold RAfebed DI uadl Aol 8l 3l
Awdr 3 35 311U B Siiola 3t {5 3oalol smud Wio WD ud> aR 3 oIPRICHAD dK Bl 3 $AD IS, Ul ASPIR Bl FIR MUDY ol clvil B
1 forafdrd smeR uR 3ia:fpR ofl usdl 3 safere snuwm! ddisira ol fCarar ol usar & fadume, Afe MU HIaGIIsil DI T3 HIdGII3il AT
Yofofe sraeIrsii 3 3IcToT-31eToT @2 A dl IR IMMUDI UGl ASPIR I ASRIAT fIret Tl 3 eIy HIGGIE wIftp &I arafde Haes 3idt 3

s fadia, yeffa snaomd d aidfl 3 Ried BIE isioal b=l orf fade & fore wafanf¥=il gr1 yefdfa fpu sirer & sren @ 3 sl 363 3fa
JATGIr & d 3idfolfda sraeie orél el & ; d Ml o1 siaome Bicll & 3=Al YR & 3 A 3iferpior clisT Siiold & b 3IRI fp=dl caftp @ siferer
dArpR A g3 yghdfa wzor &t s &t sl 3, 91 &t ao1 3 ARp Bl Fog DY U SIfeT ATl AT of Aol AT Y- FARIE 3 Yool ot bt
e bt Siredl 3, 91ct & 53 YRIooldl YA b3 AT of DI 9N A SIfd 3 b BRI Ferell R A6 g 6 sl 3 b g9 ABIGRA: gisordrn iR
ICATE S APRICHD HIAl DI Ygidfa ol anfdu qerr srI, dlel, 8iiel 3R Ia9IIel SI SIPRICHD HIdl DI SRId Dol aIfsy

Which of the following feelings one should feign at a workplace?
A. Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below

DRI Ford Uz el caftp ol foafeiRaa 3 A dia 2 siraciisil o1 f$arar wen aifde ?
A. s®x

B. Scars

C. 3@aret

D. gz1corar

oA R s1e el # A w1 & a2 o ¢

[Question ID = 1259][Question Description = S2_qSNz_PG_GP16_Q49]

1. Aand B only/dact A siiz B [Option ID = 5033]
2. B and C only/dae B siiz C [Option ID = 5034]
3. Cand D only/a@aer C siiz D [Option ID = 5035]
4. B and D only/dact B 3fiiz D [Option ID = 5036]

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 5033]

5) According to the passage, effective emotional labour management involves :

STEN9I B 3eAR, YeIIdl HIdelcHD 9 Yserol 3 = Afdafera drar 3 ?



[Question ID = 1260][Question Description = S2_qSNz_PG_GP16_Q50]

. Acceptance of emotional dissonance/sirdotrcaa fa=isifer b dfiwrfar [Option ID = 5037]

. Free expression of feelings of frustration/agst ! smaetisii &t #cp sifdrefep [Option ID = 5038]
. Display of friendly emotions/adguf smraoemsii @1 ygeler [Option ID = 5039]

. Sidetracking the learned emotions/ftxft s smraoraii @ urd 3t 3xgen [Option ID = 5040]

A W N -

Correct Answer :-
® Acceptance of emotional dissonance/sirdaetrcaras faisifer &bt >dfiarfar [Option ID = 5037]





